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Question Id : 42558912423 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Study the following table and answer the questions :

The table shows the data of Demand (number of applications received) and Intake (available seats)
in five colleges (A, B, C, D and E) :

College A B < D E

Demand
(application| 3000 600 2500 1200 3300
received)

Intake
(available 1500 1800 1000 2700 2200

seats)

Sub questions

Question Number : 1 Question Id : 42558912424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

How much percent more is the average demand of all five colleges taking together than the average
of available seats of all the five colleges ?

(1) 65.71%

(2) 40%

(3) 15.22%

4) 35.71%

Options :

42558948356. 1

42558948357. 2

42558948358. 3
42558948359. 4

Question Number : 2 Question Id : 42558912425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What is the ratio of the number of colleges having more demand than available seats to those having
more available seats than demand ?

1) 2:3
@ 1:4
@) 4:1
@ 3:2

Options :

42558948360. 1
42558948361. 2
42558948362. 3
42558948363. 4

Question Number : 3 Question Id : 42558912426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The demand for college B is approximately what percent of the demand for college C ?
(1) 24%

@ 124%
(3) 60%
@) 416%

Options :

42558948364. 1
42558948365.2
42558948366. 3
42558948367. 4

Question Number : 4 Question Id : 42558912427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The total demand of two highest demanded colleges is what percent higher than total demand of
two lowest demanded colleges ?

(1) 40%
@ 250%
() 400%
@) 25%

Options :

42558948368. 1
42558948369. 2
42558948370. 3
42558948371. 4

Question Number : 5 Question Id : 42558912428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The difference of demand and available seats in college E is what percentage lower than the difference
of demand and available seats of college A ?

(1)  36.36%
@) 42.70%
B) 26.67%
@) 31.24%

Options :

42558948372. 1

42558948373. 2

42558948374. 3
42558948375. 4



Question Id : 42558912423 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
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Sub questions

3000 600 2500 1200 3300

Question Number : 1 Question Id : 42558912424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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#HiYF 8 ?
1) 65.71%
@) 40%
@) 15.22%
(4) 35.71%
Options :
42558948356. 1
42558948357.2

42558948358. 3
42558948359. 4

Question Number : 2 Question Id : 42558912425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1 2:3
@) 1:4
B) 4:1
@) 3:2
Options :

42558948360. 1
42558948361. 2
42558948362. 3
42558948363. 4

Question Number : 3 Question Id : 42558912426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



B hieisl &1 AT C Shieid 1 | o6l Sy foran wfaerd & 2
1) 24%
@) 124%
@) 60%
@)  416%
Options :
42558948364. 1
42558948365. 2

42558948366. 3
42558948367. 4

Question Number : 4 Question Id : 42558912427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) 40%
() 250%
(3) 400%
4) 25%
Options :
42558948368. 1
42558948369. 2

42558948370. 3
42558948371. 4

Question Number : 5 Question Id : 42558912428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Ficrel € H W ST ST el F1 3T Fiers Ut "I 7R Jel Syer Hidi & i ¥ fora wfawa 0 €2
(1) 36.36%
(2) 42.70%
B)  26.67%
(4) 31.24%
Options :
42558948372. 1
42558948373.2
42558948374.3

42558948375. 4

Sub-Section Number : 2
Sub-Section Id : 425589492
Question Shuffling Allowed : Yes



Question Number : 6 Question Id : 42558912429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
A teacher assesses the answer books of the students and based on their scores he gives them ranks.
Which scales of measurement are used by him ?
(1) Interval and ordinal
(2) Ratio and ordinal
(3) Nominal and ordinal
(4) Interval and nominal
Options :
42558948376. 1
42558948377. 2

42558948378. 3
42558948379. 4

Question Number : 6 Question Id : 42558912429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

42558948376. 1

42558948377. 2

42558948378. 3
42558948379. 4

Question Number : 7 Question Id : 42558912430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The following are the steps related with construction and standardisation of research tool. Select
their correct order from earlier to later :
Construction of items
Selection of items for final draft of the tool
[tem analysis
Establishment of norms

Selection of items for primary draft of the tool

moNwp

Choose the correct answer from the options given below :
1y AECBD

2 E&A.C.BD

3 DAECB

4 AEBCD

Options :

42558948380. 1

42558948381. 2

42558948382. 3
42558948383. 4



Question Number : 7 Question Id : 42558912430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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() AECGCBD

(2) EAGCBD

() D,A,ECB

(4) AEBCD

Options :

42558948380. 1

42558948381. 2

42558948382. 3

42558948383. 4

Question Number : 8 Question Id : 42558912431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the characteristics of Action Research ?
It does not aim to develop theory.

It is not conducted to generalise the findings.

Sample is selected randomly.

It is conducted to find the solution of local level problem.

mONwp

Control on variable is required in it.

Choose the most appropriate answer from the options given below :
(1) A, BandCOnly

(2) A, BandE Only

(3) B,Cand D Only

(4) A, BandD Only
Options :
42558948384. 1
42558948385.2

42558948386. 3
42558948387. 4



Question Number : 8 Question Id : 42558912431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) FA, BRC

(2) %A A, B3RE

(3) @@ B, C 3D

(4) FFAA BID

Options :

42558948384. 1
42558948385. 2
42558948386. 3
42558948387. 4

Question Number : 9 Question Id : 42558912432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Identify non-parametric tests :

Kendall's W Test

Rank correlation test

Wilcoxon Test

t Test

Analysis of Variance

mONwp

Choose the most appropriate answer from the options given below :
(I) A, BandEOnly

(2) B,DandEOnly

(3) B,CandEOnly

(4) A, BandCOnly

Options :

42558948388. 1

42558948389. 2

42558948390. 3
42558948391. 4



Question Number : 9 Question Id : 42558912432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) Faa A, BARE

(2) %FAB,D IRE

(3) <@ B, C3IRE

(4) FFAA,BIRC

Options :

42558948388. 1
42558948389. 2
42558948390. 3
42558948391. 4

Question Number : 10 Question Id : 42558912433 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1 :
List - 1

A.  Experimental Research

B. Ethnographic Research

C. Survey

D. Case study

I1L.

IV.

List - II

In depth study of a single unit

Study of opinions of people towards social media
Cause and effect relationship between independent
and dependent variables

Study of the perception of the people of a particular
group regarding their life

Choose the correct answer from the options given below :

(1) A-IV, B-IlIL, CII, DI
(2) A-II B-IV, C-I1, D-I
(3) A-II B-I, C-IV, D-II
4) A-IL B-1V, C-1, D-III
Options :

42558948392. 1

42558948393.2

42558948394. 3
42558948395. 4



Question Number : 10 Question Id : 42558912433 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) A-IV, B-1IL, C-I, D-1
(2) A-l, B-1V, CI, D-1
(3) A-II, B-I, C-1V, D-1I
(4) A-IL B-1V, C-1, D-III

Options :

42558948392. 1

42558948393.2

42558948394. 3
42558948395. 4

Question Number : 11 Question Id : 42558912434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct statement related to Autonomous colleges in the context of recommendations of
NPE 1986 (POA-1992) :

(1) Provide no special assistance to colleges in tribal areas

(2)  Full Funding by the Central Govt. for a period of 10 years

(3) Funding shall be made available through NAAC

(4) 500 colleges to be developed as autonomous colleges in the seventh five year plan
Options :

42558948396. 1

42558948397.2

42558948398. 3
42558948399. 4

Question Number : 11 Question Id : 42558912434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

42558948396. 1

42558948397. 2

42558948398. 3
42558948399. 4



Question Number : 12 Question Id : 42558912435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The global education development agenda reflected in the Goal 4 (SDG4) of the 2030 Agenda for
Sustainable Development was adopted by India in

1) 2020
@) 2010
@) 1992
@) 2015

Options :

42558948400. 1
42558948401. 2
42558948402. 3
42558948403. 4

Question Number : 12 Question Id : 42558912435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HURirg faepmd, 2030 % TSiel 3 weg 4 § stfufafay afves foan fasm wie 1 9 g
T SRR fohan T ?

(1) 2020
() 2010
B) 1992
(4) 2015

Options :

42558948400. 1
42558948401. 2
42558948402. 3
42558948403. 4

Question Number : 13 Question Id : 42558912436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the given digital initiatives of Govt. of India in chronological order as per their year of
launch :

A.  e-gyankosh

B. PM e-Vidya

C. NPTEL

D.  e-PG Pathshala
E. SWAYAM

Choose the correct answer from the options given below :
1y C,ADEB

2y E.C48.8D0D

3} DAEB,C

4 B ACED

Options :

42558948404. 1

42558948405. 2

42558948406. 3
42558948407. 4



Question Number : 13 Question Id : 42558912436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) C,AD,EB

@) EGCABD

G) D,AEB,C

@) B,ACED

Options :

42558948404. 1
42558948405. 2
42558948406. 3
42558948407. 4

Question Number : 14 Question Id : 42558912437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The NEP, 2020 document states that :
A.  Single stream HEI's will be phased out over time
B. By 2035, there shall be at least one multidisciplinary HEI in or near every district

C.  Institutions will have option to run ODL and online programmes, provided they are accredited
to do so

D.  Justice |. 5. Verma Commission (2012) reports that over 20000 stand alone Teacher Educaton
Institutions (TEls) are selling degrees for a price

E. Private HEIs will be encouraged to offer large number of freeships and scholarships to their
students

Choose the correct answer from the options given below :
(1) A, B, CandD Only

(@) C DandEOnly

(3) A CandEOnly

(4) A, BandE Only
Options :

42558948408. 1

42558948409. 2

42558948410. 3
42558948411. 4



Question Number : 14 Question Id : 42558912437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) %FaA A, B,C3RD
() %A C, D 3RE
(3) Fad A, C 3RE
(4) FFA A, BIRE
Options :

42558948408. 1
42558948409. 2
42558948410. 3
42558948411. 4

Question Number : 15 Question Id : 42558912438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - 11 :

€L

D.

List - I List - I1

(Committee) (Major Focus Area/Recommendation in the
context of Education)

Sarkar Committee 1945 I. To explore Public-Private Parinership in Higher
Education

Sam Pitroda Committee II. To recommend measures for improving

governance and accountability in Higher
Education Institutions

K. B. Pawar Committee II. Developmentof Higher Technical Education in
India
Sahoo Commiittee IV. Restructuring Curricula for multidisciplinary

pr ofessional courses

Choose the correct answer from the options given below :

(1)
(2)
3)
(4)

A-II, B-IV, C-1, D-II
A-11L, B-I1T, C-1V, D-1
A-1V, B-I, C-1L, D-III
A-1II, B-1, C-1V, D-II

Options :

42558948412. 1
42558948413. 2
42558948414.3
42558948415. 4



Question Number : 15 Question Id : 42558912438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

it - 11 gt - 118 gafer &Y
Tl - 1

(wfufa)
A, TR GfEfd 1945 L
B. &m i gfafa IL
C. . o yar gfafa 1.
D. ¥ 9ffd Iv.
= feu o fased H | W& 3R 9 ;

(1) A-II, B-1IV, CI, D-1I
(2) A-IL B-III, C-1IV, D-1
(3) A-IV, B-I, C-11, D-III
(4) A-I, B-I, C-1V, D-11

Options :

42558948412. 1

42558948413. 2

42558948414. 3
42558948415. 4
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Question Number : 16 Question Id : 42558912439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following does not pertain to 4 Cs of successful writing ?

(1) Concise

(2) Connect

(3) Clear
(4) Correct
Options :

42558948416. 1
42558948417.2
42558948418. 3
42558948419. 4



Question Number : 16 Question Id : 42558912439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) hETES
@) wE
@) frR
4) wE
Options :

42558948416. 1
42558948417.2
42558948418. 3
42558948419. 4

Question Number : 17 Question Id : 42558912440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Skills to face job interviews and getting employed are part of :
(1) teaching skills

(2) soft skills

(3) learning skills

(4) manipulation skills
Options :

42558948420. 1

42558948421.2

42558948422. 3
42558948423. 4

Question Number : 17 Question Id : 42558912440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arerdt <k TIaeRR H Suled o o1 faifea e deisli wmre frefafes o | foaes w22

(1)  Toremn e

(2) I U
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Options :

42558948420. 1
42558948421.2
42558948422. 3
42558948423. 4



Question Number : 18 Question Id : 42558912441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the evolution of the following social media platforms in chronological order from past to

present :

A, Tik Tok

B. Twitter

C.  FaceBook
D. Instagram
E. YouTube

Choose the correct answer from the options given below :
1y DACEB

2y CDA,BE

3) EBDA,C

4 CEBDA

Options :

42558948424. 1

42558948425.2

42558948426. 3
42558948427. 4

Question Number : 18 Question Id : 42558912441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) D,ACEB
2) C.D.ABE
() EB,D,A,C
4 CEBDA
Options :
42558948424. 1
42558948425.2

42558948426. 3
42558948427. 4



Question Number : 19 Question Id : 42558912442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following come under the category of non-verbal communication ?
Body language
Shouting
Gestures

Facial Expressions

moNwp

Conversation on telephonic call

Choose the correct answer from the options given below :
(1) B,CandD Only

(2) C DandE Only

(3) A, BandE Only

4) A, CandD Only

Options :

42558948428. 1

42558948429. 2

42558948430. 3
42558948431. 4

Question Number : 19 Question Id : 42558912442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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A, IR W

B. W W H de

C. S

D. 9t ¥ 9@ Ayt
E. Y9 W Sa=rd
= feu mu fosmed § 9 @@ e I
(1) FFaB,C3RD

(2) %A C, D 3RE

(3) 9@ A, B3RE

(4) FFA A, C3IRD
Options :

42558948428. 1
42558948429. 2
42558948430. 3
42558948431. 4



Question Number : 20 Question Id : 42558912443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - 11 :

List -1 List- 11
A.  Swayam Prabha L. Kids Programme
B.  Shark Tank Il.  Agriculture Programme
C.  Krishi Darshan III. Business reality T.V. Series
D. Shaktimaan IV.  Educational Programmes

Choose the correct answer from the options given below :
(1) A-IV, B-1II, C-II, D-I

(2) A-IL B-IV, CI, D-II

(3) A-IL B-lII, C-IV, D-I

4) A-IV, B-II, C-1II, DI

Options :

42558948432. 1

42558948433. 2

42558948434. 3
42558948435. 4

Question Number : 20 Question Id : 42558912443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T - 11 g=A - 11 F gt =1
et - 1 LT - 11

A, =9l I. ==l o1 FTHEA

B. T % I Y F%A

C. FugyA 1. fasg fafeet 2t df urenfes
D. wfowm Iv. e sy

9 feu o fomwedi § 9 W sar 9

(1) A-IV, B-1IL, CI, D-1
(2) A-l, B-1V,CI, D-1I
(3) A-IL B-1II, C-IV, D-I
(4) A-IV, B-1I, C-111, D-I

Options :

42558948432 1

42558948433.2

42558948434. 3
42558948435. 4



Question Number : 21 Question Id : 42558912444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find the missing term (?) in the following alpha-numeric series.
A2B, B3D, C5F, (?), E11], ......

(1) D7H
) D8G
(3) D9H
(4) D8H

Options :

42558948436. 1
42558948437.2
42558948438. 3
42558948439. 4

Question Number : 21 Question Id : 42558912444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafea aui-geammes gaan | 98 98 (?) 49 Fife ;
A2B, B3D, C5F, (?), E11], .....

(1) D7H
() D8G
() D9H
(4) D8H

Options :

42558948436. 1
42558948437.2
42558948438. 3
42558948439. 4

Question Number : 22 Question Id : 42558912445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find the next term (?) in the following number series.
0.9, 26, 65, 124, 217, ?, ...

(1) 317
@) 336
@) 341
@) 342

Options :

42558948440. 1
42558948441.2
42558948442. 3
42558948443. 4



Question Number : 22 Question Id : 42558912445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfafEa SEn-gaan & 37en 1% (?) I Hie
0, 9, 26, 65, 124, 217, ?, .......

1) 317
@) 336
@) 341
@) 342

Options :

42558948440. 1
42558948441.2
42558948442. 3
42558948443. 4

Question Number : 23 Question Id : 42558912446 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following shapes in increasing order of their areas :
A, Acircle of diameter 10 cm

B. A rectangle of dimensions [6 cm X 4 cm]

C. Asquare of side 5 cm

D.  An equilateral triangle of side 5 cm

Choose the correct answer from the options given below :
(' D.CAB

2y BCDA

3y B.DCA

4) D,BCA

Options :

42558948444. 1
42558948445.2
42558948446. 3
42558948447. 4



Question Number : 23 Question Id : 42558912446 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa sTfaal o1 37 &9%a & 9¢d §U hH H oAaEd Fiford |

A, 10 9Hi. =ATH 194

B. fommsdi (6 Tt x 4 |HY) &1 27044
C. 59 st 1 oA

D. 5HH Y N gHaE HAYS

= fou T foskredl # 9 T 3k A
(1) D,CA,B

@ BCDA
3) B,D,CA
4) D,BCA
Options :
42558948444. 1
42558948445.2

42558948446. 3
42558948447. 4

Question Number : 24 Question Id : 42558912447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following are correct ?
A.  Speed of 50 km/hour is equivalent to 15 m/s

The area of a rhombus with diagonals of 4 cm and 6 cm is 12 cm?

B.

C YSeis greater than 4

D.  The cost price of 10 bananas is the same as the selling prices of 8 bananas. The percentage profit
is 25%

Choose the correct answer from the options given below :

(1) A BandD Only

(2) B,Cand D Only

(3) Band DOnly

4) A CandD Only

Options :

42558948448. 1
42558948449. 2
42558948450. 3
42558948451. 4



Question Number : 24 Question Id : 42558912447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefofes § 9 #9 | FU W €

A. 50 fereiTHTeR ufe =iz 1 = 15 Hiet wfadsoeg & guH 2|

B. 49w 3R 6 T favl F Arage{s F1 aswe 12 HHR B ¥
&

¥ /729 4TS EI
D. 103l 1 @rTa Sat € € foen & 8 et o6 fosha ger | ony ufawra 25% &1

e feu mu fomredi o 9 W& 3ar 9
(1) %A A, B3RD

(2) @@ B,C 3D

(3) FFd B3ARD

(4) FFA A, C3IRD

Options :

42558948448. 1
42558948449. 2
42558948450. 3
42558948451. 4

Question Number : 25 Question Id : 42558912448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I1 :
List - I List - I1
Al In a class, the ratio of number of male students L 4
to number of female students is 9 : 11. The
percentage (%) of female students in the class
is

B. When a number ‘1’ is added to the numerator and

(]

denominator of fraction 7 . II.

it becomes E then x is

3

C.  Twonumbers are directly proportional to each other. II. 55
If the value of one of the number is doubled, then
their product will become times

xy+yo
D. Ifx:y=3:2, then m is equal to v. 1
Choose the correct answer from the options given below :

(1)  A-IL B-L, C-1I, D-IV

(2) A-LL B-II, C-1V, D-1

(3) A-II B-IV, C-I, D-1

(4) A-lL B-II, C-1V, D-1

Options :

42558948452. 1

42558948453. 2

42558948454. 3

42558948455. 4



Question Number : 25 Question Id : 42558912448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

it - 11 gt - 118 gafer &Y

Tl - 1 T - 11
A, e en | am oiR SmEel @ Hen ey 9: 11§ L. 4

dl 3| e W seEnsi 1 ufavd © |

B. ﬁa%%maﬁlmﬁ‘x'mmﬁmaﬂﬁmugéﬁm L 2

3
'E»Z?ﬁxmtﬂtl gl
C. < e U T & HiY S § 1A uh . 55
HE=AT 1 HMA 1 A R 1 S A1 3HT TR
T[T B ST |
2
D. ui%_r:y=3:2,?h%€ﬂn v. 1
A feu o foepedl # | wd 3o 9f

(1) A-I, B-I, C-IL, D-IV
(2) A-IL B-11I, C-IV, D-1
(3) A-lL B-1V,CI, D-1I
(4) A-I, B-II, C-IV, D-I

Options :

42558948452. 1

42558948453. 2

42558948454. 3
42558948455. 4

Question Number : 26 Question Id : 42558912449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Mimamsa is :
(1)  State of mental absorption in an object, where an individual gains own experiential realization
of its true nature (Samadhi)
(2)  One of the classical schools of Indian Philosophy (Aastik Vedas)
(3)  The unorthodox means of knowledge (Nastik)
(4) A doctrine that claims all universal things are momentary in nature
Options :
42558948456. 1
42558948457.2

42558948458. 3
42558948459. 4



Question Number : 26 Question Id : 42558912449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
HIE#
() Tl o (Sea) H wHEfEeE aoeial S sTaE STel safaa Sl 39 4 % and o TEY & 9 H EY
i sTvfEE Ffa a2t § ) (|m)
(2) U S 1 Teh IMEE A | (AT 9%)
3) 3 % STETT WA ()
@) == fagia fowd gmen fea s & fo gt Srfer =S aforee §)

Options :

42558948456. 1
42558948457. 2
42558948458. 3
42558948459. 4

Question Number : 27 Question Id : 42558912450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following is an example of deductive reasoning ?

(1)  Screenexposure among children at very early stage affects their Psychological health. Therefore,
we should not expose our children to digital gadgets.

(2) Smoking leads to lung cancer. Therefore, we should not smoke.

(3) Ifitis raining, then the ground is wet. It is raining. Therefore, the ground is wet.
(4)  All ducks that have been observed have been white. Therefore, all ducks are white.
Options :

42558948460. 1

42558948461. 2

42558948462. 3
42558948463. 4

Question Number : 27 Question Id : 42558912450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fefefea § | a1 FrraeTs Teh 1 3 B |

(1) =i H STegehTe § BRI ST § 3R A S geaviferd 21 § | 31a: g6 a=ii )l fefeed
Trote | IguIfHa &l 1 =feu |

(2) YHIH o IROMH TEEY FHS 1 HE Bl © | SHICY B HH9H el U wied |

3) dfe w2 @ @ He tien & s ¥ et @1 W@ €, gufore B tien ¥

(4) fed |t sl =1 9] vad € | SHfa Wl g ved il & |

Options :

42558948460. 1
42558948461. 2
42558948462. 3
42558948463. 4




Question Number : 28 Question Id : 42558912451 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange in sequence the process of evaluating analogical reasoning :
Draw Conclusion

Evaluate strength of analogy

Assess relevance of similarities

Detect common features

moNwp

Identify the source and target domains

Choose the correct answer from the options given below :
1y CDAEB

2y EADCB

3 ACED,B

4 EDCA,B

Options :

42558948464. 1

42558948465. 2

42558948466. 3
42558948467. 4

Question Number : 28 Question Id : 42558912451 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ST TR o HEATRA WohH o1 Tel TR H H oAafed Fe ;

A, Tremd fregre

B.  WIGYEdl &I Yelewdl & Hedishd !

C. HuES FT FEAR T gediF

D. Iyare fasmarss w1 99=d

E. ©d 3T @ 98 (5a) i fegifera e
9 feu o fomwedi § 9 wE sar 9f

() CD,AEB
) EAD,CB
@) A,CED,B
4 EDCA,B
Options :

42558948464. 1
42558948465.2

42558948466. 3
42558948467. 4



Question Number : 29 Question Id : 42558912452 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If the proposition’No reptiles are squirrels’ is given as false, then which of the following propositions
can be inferred to be true ?

A.  Some reptiles are squirrels

B.  All reptiles are squirrels

C.  Some non-squirrels are not non-reptiles

D.  Some reptiles are not squirrels

Choose the most appropriate answer from the options given below :
(I) AandBOnly

(2) BOnly

(3) Cand D Only

4) A, CandD Only

Options :

42558948468. 1
42558948469. 2
42558948470. 3
42558948471. 4

Question Number : 29 Question Id : 42558912452 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

af it 2 oft airgy fireredt =& €' 1 Tofd FeF F w9 H fomn man ® @ Frefafas 8 § #0 9 Fa
FHoHl % Tel B 1 STAH TR T ekl ©

A F3 TUgY fireefEr €

B. 4l wirgy frewefta €

C. ¥ r-freaefal -aigy 76 €

D. & gagy fieefEr 7& &

3w T forsredi B W IR T -

(1) %ad A 3B
(2) FI4dB

() FEA C3HRD
(4) %FA A, C3RD

Options :

42558948468. 1
42558948469. 2
42558948470. 3
42558948471. 4



Question Number : 30 Question Id : 42558912453 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - 11 :

List -1 List - 11
(Proposition) (Standard Form)
A.  Universal affirmative £ NoSisP
B. Universal negative I. AllSisP
C.  Particular affirmative [lI. SomeSisnotP
D.  Particular negative IV. SomeSisP

Choose the correct answer from the options given below :
(1) A-L B-IV,C-II, D-III

(2) A-IL B-1, G-IV, D-1II

(3) A-IV,B-L C-III, D-II

4) A-lL B-1V, C-I, D-III

Options :

42558948472. 1

42558948473. 2

42558948474. 3

42558948475. 4

Question Number : 30 Question Id : 42558912453 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T - 11 g=A - 11 F gt =1
Tl - 1 et - 11

( ek e ) (W T )
A, gEvfas ftaarEs . %E o T (5), 7 (P) T T
B. WEwifier Mfaras I @i TH (9), 9 (P) T
C. fa9m snfeqaraes . %®TF (), 9 (P)7=l T
D. fasm Tfeeras V. FBTE(S), T (P)EI
Fr3 figw U faeredl § 9 WE IR G :

(1) A-L B-IV, C-11, D-II
(2) A-IL B-1, C-IV, D-III
(3) A-IV, B-L C-1II, D-II
(4) A-IL B-1V, C-1, D-III

Options :

42558948472. 1

42558948473. 2

42558948474. 3
42558948475. 4



Question Number : 31 Question Id : 42558912454 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Evening Hours of a Hermit’ is written by :
(1) Krishnamurthy

(2) Rousseau

(3) Khushwant Singh

(4) Pestalozzi

Options :

42558948476. 1

42558948477. 2

42558948478. 3
42558948479. 4

Question Number : 31 Question Id : 42558912454 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
‘gt e o U efHe’ & WiEd A § 2
(1) For

(2w

@) GEd e
(@) TS
Options :

42558948476. 1
425589484717.2
42558948478. 3
42558948479. 4

Question Number : 32 Question Id : 42558912455 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“Learning to Do-Towards a learning and working society” is a title of the report submitted by :
(1) Adiseshaiah Committee

(2) Kothari Commission

(3) Ishwarbhai Patel Committee

(4) Zakir Hussain Committee

Options :

42558948480. 1

42558948481. 2

42558948482. 3
42558948483. 4



Question Number : 32 Question Id : 42558912455 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et 2 g - zagy T atit e afd et fefateas § 9 feae g wa fure v € 2
(1) enfesriren wfbfa

(2) IS AN

(3)  EYEROME Hed HiHfd

(4)  mferx g wfafa

Options :

42558948480. 1
42558948481.2
42558948482. 3
42558948483. 4

Question Number : 33 Question Id : 42558912456 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following Erickson’s stages of development on the basis of order of their occurrence :
Generativity and Stagnation

Identity and Role Confusion

Autonomy and Shame

Industry and Inferiority

mogN®p

Integrity and Despair

Choose the correct answer from the options given below :

() CBDAE
2y CADBE
@) GCEABD
@) CD,B,AE
Options :

42558948484. 1
42558948485.2
42558948486. 3
42558948487. 4



Question Number : 33 Question Id : 42558912456 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

freferiaa = TRaem =1 famm &t sTacensti & wfed 8F & %9 & STTaR Geaied 5L ;

A, SoEesd (SAfEfEE) SR wfa
B.  affEHal 3R yfwer wfauw

C. T 3R oeen

D. ZEM AR EA9E

E.  gafrer o Jueg

9 feu o fomwedi § 9 W sar 9

(1) CB,D,AE
2) CADBE
() GCEABD
4 CDBAE

Options :

42558948484. 1

42558948485.2

42558948486. 3
42558948487. 4

Question Number : 34 Question Id : 42558912457 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Select the ‘RIGHT' statements :

A, ‘Article 21-A’ inserted in constitution, is related to Right to free and compulsory education
B.  “Article 30" of the constitution protects the Right to Information

C.  ’Article 350-A’ assures the Higher Education and Research

D ‘Article 30" of the constitution protects the Right of minorities to manage the Educational

institutions

Choose the correct answer from the options given below :

(I) AandBOnly

(2) AandCOnly

(3) AandD Only

(4) Band DOnly
Options :
42558948488. 1
42558948489. 2

42558948490. 3
42558948491. 4



Question Number : 34 Question Id : 42558912457 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e eI g
A, Hfeum | sia-eeiud seeT 21-A, 9ok iR sifqard foan % sifeer 9 dafud #)
B. WfawmM &% SI9=E 30 ¥ ga % SIfehR 1 TReTo] e ¥ |
C. =% 350-A H I=Acr foream &7 oy =1 efreareq feon T 8
D. GfEuM % =% 30 § SoTHErs 97 g Ve el F UaeA % AfHER 1 TIE e T |

= fou T foskredl # 9 T 3k A
(1) <ad A 3B

(2) FFAAIRC

(3) %I A D

(4) 9 BHRD
Options :

42558948488. 1
42558948489. 2
42558948490. 3
42558948491. 4

Question Number : 35 Question Id : 42558912458 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1 ;

List - 1 List - 11
(Methods) (Objectives)
A.  Lecturing I Providing direct experiences
B. Demonstration Il.  Presenting facts
C.  Field trip [II. Providing purposeful activities
D. Project IV. Showing manipulations of operations

Choose the correct answer from the options given below :
(1) A-IL B-I, C-1IV, D-III

(2) A-IL B-1V, C-1, D-III

(3)  A-IIL B-IV, C-I, D-I

4) A-IV,B-II CI, D-II
Options :
42558948492. 1
42558948493. 2

42558948494. 3
42558948495. 4



Question Number : 35 Question Id : 42558912458 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question

Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T - 11 g=A - 11 F gt =1

(fafer)

A =M L.
B. WS¥A IL
C. &g < (wiee f2a) I1L.
D. ufEreH Iv.
H3 few T skt & W SR g ;
(1)  A-IL B-1, C-1V, D-II

(2) A-IL B-1V, C-1, D-II

(3) A-IN, B-IV, C-II, D-1

(@)  A-IV, B-IIL, C-I, D-II

Options :

el - 1

42558948492. 1
42558948493.2
42558948494. 3
42558948495. 4

et - 11

(ZEva)

TAa ST TS F

et i TEfa

3Q9AqUl (ArSerR) feRaTehed 3qeTsd Tl
HfehaTa o 83T o TG

Question Number : 36 Question Id : 42558912459 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question

Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Landes (1969) considers the industrial revolution as the outcome of a combination of three interrelated
streams of technical advances. Which of the following is NOT one of these streams ?

(1) “Mechanization”

(2) adoption of new power sources

(3) modification of equipments to make human life easy

(4) extensive use of new raw materials

Options :

42558948496. 1
42558948497.2
42558948498. 3
42558948499. 4



Question Number : 36 Question Id : 42558912459 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

oieq (1969) A F=fTF Hifd 1 A . Tafera a1 Wifa &0 vrEedi % A & ufofa ar g
frefafaa 5 9 s = s8en! aredi § 9 0 76 € 7

(1)  FfrehrET

(2) IR o U EACT H SR

(3) WM S H GH I F o U 1 Sy EmeE

(4) ¥ = HIA 1 AE FAN

Options :

42558948496. 1

42558948497. 2

42558948498. 3
42558948499. 4

Question Number : 37 Question Id : 42558912460 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The process of typing CAPTCHAs is a variation on :
(1) Turing test

(2) Turner’s test

(3) F-test
(4) t-test
Options :

42558948500. 1
42558948501. 2
42558948502. 3
42558948503. 4

Question Number : 37 Question Id : 42558912460 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e o 2T i wishan frefafaa o 9 fergent famror (wwiaeo) g2

(1) o e

(2) = e

(@) TEHE-TE

() 2~ wem
Options :

42558948500. 1
42558948501. 2
42558948502. 3
42558948503. 4



Question Number : 38 Question Id : 42558912461 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the " WRONG’ statements :

A.  Kali Linux is a flavour of Linux OS

B. We can use Macintosh on Linux O6S also

C.  Windows Surface is developed by Intel Corporation
D.  Android is based on Linux OS

Choose the correct answer from the options given below :
(I) AandBOnly

(2) Band DOnly

(3) Aand COnly

(4) BandCOnly
Options :
42558948504. 1
42558948505. 2

42558948506. 3
42558948507. 4

Question Number : 38 Question Id : 42558912461 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
freferfaa & @ T Fo TR ;

A, FT AR, TEAHT 311 TF I IFHd A ¢ |

B. BW TN 3 TH W ol AfFEIT 1 W R HEd €
C. foSr Ty 320 HRARTH gRI TaR e T €

D. UgHe aEded LU, R onufa B

e fau mu fomredi # 9 WE IR I
(1) I A 3B

() %9« BERD

(3) A A HARC

(4) A B ARC

Options :

42558948504. 1
42558948505. 2
42558948506. 3
42558948507. 4



Question Number : 39 Question Id : 42558912462 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the " WRONG’ statements :

A. 'OLED stands for Organic light emitting Diodes

B. ‘Fastag’ is an example of RFID

C. 'CAD stands for Computer Algorithm of Design
D. ‘RFID’ stands for Rapid Frequency Identification
Choose the correct answer from the options given below :
(I) CandDOnly

(2) AandBOnly

(3) Band COnly

4) Aand COnly

Options :

42558948508. 1
42558948509. 2
42558948510. 3
42558948511. 4

Question Number : 39 Question Id : 42558912462 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Wmﬁmﬁﬁﬁ

A, 3 A T 2w fasga Y AN Tee Ui ESEe €
B. THIET 3R UF 375 S & 3T

C. TS QU W FHR SARyy AE feamed §

D. U 378 € &l aread e Wbl seefelmrem & §)
= feu o fowed # 9 wE 3ar 9

(1) THEFACFRD

(2) Fad A B

() FFA B ARC

@) FEAAARC
Options :

42558948508. 1
42558948509. 2
42558948510. 3
42558948511. 4



Question Number : 40 Question Id : 42558912463 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - 11 :

List-1

(Type of e-resource)
e-Journals

e-books

e-Zines

CD-ROMS

wiE Sl

152
IL
1.
V.

List-1I

(Description)

used for storing a larger volume of data

published on the web as well as in the digital format
a piece of software

can be used to store articles on a file server in the form
of a magzine

Choose the correct answer from the options given below :

(1) A-IL B-III, C-IV, D-I
(2) A-IL B-IV, G-I, D-II
(3) A-IV, B-1II, C-II, D1
4) A-IL B-1V, C-1, D-III
Options :

42558948512. 1

42558948513.2

42558948514. 3
42558948515. 4

Question Number : 40 Question Id : 42558912463 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T - 11 g=A - 11 F gt =1

Tl - 1

(-HETEH T UhT)

A, E-ufE

B. &%

C. 3-9EH

D. H g

9 feu o fommedl # 9 wE ser 9

(1) A-IL B-1II, C-IV, D-1
(2) A-I B-1V, C1, D-11
(3) A-IV, B-UII, C-1I, D-1
(4) A-IL B-1V, C-1, D-III

Options :

42558948512. 1

42558948513.2

42558948514. 3
42558948515. 4

IL

1.
IV.

Tl - 11

( foartor)

THH FART 9 HEA o g9 9uew & fau g §

7% 949 % qre Wiy fefees yrey § off werifem € @

T Teh Ao Il &

=TT YA Tore gt ek o e Ut & w9 F 9 6
e % fou v -1 Twan €



Question Number : 41 Question Id : 42558912464 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What is the major source of pollutant lead in homes ?
(1) Furniture
(2) Paint
(3) Utensils
(4) Notebooks
Options :
42558948516. 1
42558948517.2

42558948518. 3
42558948519. 4

Question Number : 41 Question Id : 42558912464 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i § veu dran 1 yaE Hia frefafga § g e e?

(1) AR
@ W
@)
(4) TeTE
Options :

42558948516. 1
42558948517.2
42558948518. 3
42558948519. 4

Question Number : 42 Question Id : 42558912465 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is Noise Induced Permanent Threshold Shifts (NIPTS) ?

(1)  Shift due to exposure to high level sound for comparatively short period
(2)  Shift due to honking of vehicles

(3)  Shift in permanent threshold due to years of high level of industrial noise
(4)  Shift due to shorter noise exposure

Options :

42558948520. 1

42558948521.2

42558948522. 3
42558948523. 4



Question Number : 42 Question Id : 42558912465 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

w3 U Tl Seels ST (=i sekE e e ) #n g2
(1) =TEFd SearEy & fu 3= W &1 i SqUEA | T

(2) @Al % B FSH o SRR S

() T Tl ok I H AEATE A % HROT T Teeis § oo
(@) T = I|{IEA ¥ SFam

Options :

42558948520. 1
42558948521.2
42558948522. 3
42558948523. 4

Question Number : 43 Question Id : 42558912466 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Arrange the sequence of processes leading to formation of ozone hole :
De-humidification, de-nitrification
Vortex formation
Pre-conditioning

Very low temperature polar stratosphere clouds

mogN®p

Ozone destruction by catalysis

Choose the correct answer from the options given below :
ty E.D.CDB.A

2y BDACE

3} A,BC.D,E

4 CABDE

Options :

42558948524. 1

42558948525. 2

42558948526. 3
42558948527. 4



Question Number : 43 Question Id : 42558912466 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i fog fmio & sfaviea gfmaneti (Wepm) &1 21w o =afiem Fifad

A, SAEARHA FHA, AR Wed A
B. SorEd (dreed) famior

C. YH-3TTFeH

D. Ydg THard Hed & @eal (WE) T Sfd = asn
E. 39 g SANH 9d & T B
= feu mu fosmed § 9 @@ e I
(1) ED,CBA

@) B,D,A,CE

@) A BCD,E

4 CABDE

Options :

42558948524. 1
42558948525. 2
42558948526. 3
42558948527. 4

Question Number : 44 Question Id : 42558912467 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct statements from the fnllowi_ng regarding targets under Sustainable Development
Goals :

A,
B.
.

D.

E.

Target under SDGS is to sustain 7% GDP in least developed countries
Target under SDG3 is to ensure universal access to sexual and reproductive health care by 2030

Target under SDG4 is to ensure equal access for all women and men to affordable quality

higher education by 2030

Target under SDG7 is to build resilient infrastructure, promote inclusive and sustainable
industrialization, and foster innovation

Target under SDG6 to improve water quality by reducing pollution by 2030

Choose the correct answer from the options given below :

(1)
(2)
3)
()

A, B, D and E Only
A, B, C and E Only
A, B and D Only
A, C and E Only

Options :

42558948528. 1
42558948529.2
42558948530. 3
42558948531. 4



Question Number : 44 Question Id : 42558912467 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
RO forerrg @ei o o7ei fAifa @t & an o 98 Fo & g
A, HYRUiE fowr @5F 8 o @eg Tl &Y fomfaa <9 § 7% Hehel Sie] 30918 %1 Had a9 a1 © |
B. HYRUZ faswm @ed 3 o @ed o 2030 T AifTeR 3R yre w@rea w1 gEdifres sfm gifrea
FA T
C. HuRUia foshE @89 4 F1 o6 1 Afecensll IR g&ul =1 99 2030 ToF Tl Qoo s=a
IYETSH FHIT € |
D. HyRvig foswm @4 7 & stafa gge Sia o fmfon, gmesht e b sieifietso S deaed
TS FATERI F A & F AT B
E.  HYRviig foema @ied 6 1 s 519 2030 7% GSUYT SR STe ohi oTerd] H R & & |
= feu T faswedl § ¥ wE swr giaw
(1) FIAA, B, D3IRE
(2) FIAA, B, C3HRE
(3) A A, BIRD
(4) FFAA, C3IRE

Options :

42558948528. 1
42558948529.2
42558948530. 3
42558948531. 4

Question Number : 45 Question Id : 42558912468 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - 11 :

List - 1 List - 11
(Type of Disaster) (Consequences)
A.  Biological disaster 1. Flood, drought, storm
B. Geophysical disaster 1L Epidemic, insect infestation
C.  Hydro meterological disaster III. Transport disaster, riots
D. Anthropogenic disaster IV. Earthquake, volcano, landslide

Choose the correct answer from the options given below :
(1) A-IV, B-1II, C-I1, D-I

(2) A-IL B-1V, C-1II, D-I

(3) AL B-1V, C-I, D-III

4) A-lL B-IIL C-II, D-IV

Options :

42558948532. 1

42558948533.2

42558948534. 3

42558948535. 4



Question Number : 45 Question Id : 42558912468 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T - 11 g=A - 11 F gt =1
e -1 e - 11

( STIET =T YT ) ( uftoma )
A, SR AT [ e 9@, s
B. iifaes aman [I. TEMRI, Fie FH AR
C. SafHfde el 1. 9ftEed smgel, g
D. HESA 3Gl IV. Y&, SEremE!, -FgeH
3 fgw U foeredl § & WE IR G :

(1) A-IV, B-llIl, CI, D-1
(2) A-IL B-1V, C-III, D-1
3) AL B-IV, C-I, D-III
(4) AL B-lII, C-IL D-IV

Options :

42558948532. 1

42558948533. 2

42558948534. 3

42558948535. 4

Sub-Section Number : 3
Sub-Section Id : 425589493
Question Shuffling Allowed : No



Question Id : 42558912469 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

Read the following passage and answer the questions :

The stock-taking done at the first national convention on Consumer Protection served to
highlight the areas that called for special attention to sustain the momentum of the movement as
genuine forum for safeguarding the people’s interests. Spreading awareness about the rights of the
consumers and the relief open to them in case they did not get their money’s worth of goods and
services has rightly been identified as the first priority.

While this may not be a difficult task in urban areas, where the movement is concentrated at
present, taking it to the vast rural hinterland calls for a multi-media approach in which radio and
television have a crucial role to play. The involvement of the 500-odd consumer organizations in the
country in publicising the concept of fair trade practices and the remedies available against their
violation will prove rewarding, if the message is conveyed through village bodies. Government
efforts remain confined at best to setting up the infrastructure after the formal launch of the movement
with the enactment of the Consumer Protection Act. The mounting backlog of cases in consumer
courts, points to the need for toning up the district level redressal machinery.

Sub questions

Question Number : 46 Question Id : 42558912470 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The first national convention on consumer protection has :

(1)  highlighted the areas of special attention

(2) spread awareness about the consumer rights

(3) provided guidelines to do away with the substandard products

(4) criticised the Govt. apathy towards bringing awareness among the consumers
Options :

42558948536. 1

42558948537. 2

42558948538. 3
42558948539. 4

Question Number : 47 Question Id : 42558912471 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
For bringing awareness among the consumers, whose role, according to the author, is more crucial ?
(1) Religious scriptures
(2) Radio and television
(3) Newspapers and textbooks
(4) Heads of the villages or sarpanch
Options :
42558948540. 1
42558948541. 2

42558948542. 3
42558948543. 4

Question Number : 48 Question Id : 42558912472 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Government contributed to the consumer protection movement by :
(1) toning up a district level machinery

(2) cleaning the backlog cases in the consumer court

(3)  setting up requisite infrastructure

(4)  enactment of the consumer protection Act

Options :

42558948544. 1

42558948545.2

42558948546. 3
42558948547. 4

Question Number : 49 Question Id : 42558912473 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What, according to the author, will prove rewarding with reference to consumer protection ?
(1) Remedies against the violation of fair trade practices

(2)  Setting up more and more Lok Adalats

(3) Weekly campaign for bringing awareness

(4) Rigorous punishment to the erring officials

Options :

42558948548. 1

42558948549. 2

42558948550. 3
42558948551. 4

Question Number : 50 Question Id : 42558912474 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ensuring consumer Protection in rural areas requires :
(1) Establishing rural courts

(2) Use of different media

(3) Increasing lok-adalats

(4) Empowering the Panchayats

Options :

42558948552 1

42558948553. 2

42558948554. 3
42558948555. 4



Question Id : 42558912469 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

e feu T Terer it ufew ST weHT % WY S

SYHIER HET Hee Yo T SAHfuTwe 1 SEe 39 &5 Fl ISR FE & 3evd 9 forn mn fo w
fordmy &2 fou < =l srerwreRan off arfer 3 eTierer (qiew) % a1 e o fedi = a1 o fon smafeass
He % T W fHa SR T S He | YRSl  SAfHER S o fRu MU oF % Sed 3% SuE 9 3
AT 9T 61 214 ohi VI H Ik o0 3YeTed Uad ohl Teh ®9 9 Ygeil efHekal < ®9 § fergiferd feran man
gl
TeteR wedl &5 H, STl 98 sfider adH § we €, 7 % wfe 79 v afrs T ufen = fawme sfiad
ITEOT &3S ek & S o fore et Hifean SunTHl 1 sTrevEsa © fomd Wedl ok efifas wi sew yfiem
1 faie T 21 3fEa SAaier g1l ae1 39 SeoiEd o i SU H SUed HIEM] i Hheal % T
THR H 391 % ST 500 SUNTERI SIS ol seniar s1fd werrdl fagy 21 3t aror fHeml & wemm |
Hew wufya 2 srafara aftoms area 2T | SRR % gAr SqvteT S sfufem o st % avera
A F ST YURY F 918 SRl | e srEn e fmiv e difg @ €1 3usiean =mrerEr
TR0 1 e e TR R sTavaes o o1 gfaafard o o sTavae @ eI e foera €1

Sub questions

Question Number : 46 Question Id : 42558912470 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Y4BT Heeo Gaefi vem g sifymmg g
(1) fa¥ e feu S 4 &5 ISR g
() 9T AR F TN H ARTEERA 6 TR g ¥
(@) 199 Al Sl Screl SR GETE A GeHi feenfrey g gu
4) SUERIST T STTEE 30 T o A § TR 3 SUETYO] T4 H ST g ©

Options :

42558948536. 1
42558948537. 2
42558948538. 3
42558948539. 4

Question Number : 47 Question Id : 42558912471 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TEF F ITER YIS H ST 39 w0 & fou fefatas § 9 feast yfte sfue wee
(foifrer) 8 2

(1) =Y

@) e iR TenfasH

3) HHMER 93 3R qeaqEsh

(4)  TTH Y =1 WG

Options :

42558948540. 1
42558948541. 2
42558948542. 3
42558948543. 4

Question Number : 48 Question Id : 42558912472 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
WeEr + frefafea | § fFg Fo 9 usiiEa giem e § g e ?
(1) TSm99 #i geifod 2
(2) I AT H wfed Tl 1 R #T
(3) T sTaETEAT 1 Ao
(4) IR HE sifuftem w stufraihg =

Options :

42558948544. 1
42558948545. 2
42558948546. 3
42558948547. 4

Question Number : 49 Question Id : 42558912473 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
g o ITER, SUNE We F He # frefafeaa § & 9 werrl fag gm?
(1) 3 ST qeist 1 3eaE B U H Sqers T
(2) e | S1fer ok STererdl i T
(3) SR 3= A % feu wrrfesd SifEm
(4) e A Al st i Fen gue

Options :

42558948548. 1
42558948549. 2
42558948550. 3
42558948551. 4

Question Number : 50 Question Id : 42558912474 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
IO S H U SR giAfed R €Y SIEvas €
(1) T AT Rl
() faf= wifean = zq@m
(3) I TETETAl I HEAT TG
(4) HETAC T TR

Options :

42558948552. 1
42558948553.2
42558948554. 3
42558948555. 4

Maithili
Section Id : 425589170
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0

Sub-Section Number : 1



Sub-Section Id : 425589494
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 42558912475 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

sfatvaTs foa oo
(1) THTR
(2) TR
(3) TTOYeR
(4) cRfEE<T
Options :

42558948556. 1
42558948557.2
42558948558. 3
42558948559. 4

Question Number : 51 Question Id : 42558912475 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

sHIfaRIvaer foa geme

(1) THTR

(2) HEeR

(3) TR

(4) cRfEE<T
Options :

42558948556. 1
42558948557.2
42558948558. 3
42558948559. 4

Question Number : 52 Question Id : 42558912476 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Aforelt sfiera § Sfadiver et @l g wea Ta e’ - € wem wfe .
(1) Ir=rd WY o 31 SgE Hah

(2) GHiifa FAR s & ageTs fyes

(3) TS g o e e

(4) SRR H A TR HANHR
Options :

42558948560. 1
42558948561. 2
42558948562 3
42558948563 4



Question Number : 52 Question Id : 42558912476 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Hforelt sy § Sfadiver e & g wew Ta e’ - € weH ol
(1) omard WY A SR I

(2) Gtfa FAR T & agars] fyes

(3) o< g s e o

(4) SREHRAY A TR AR
Options :

42558948560. 1
42558948561. 2
42558948562. 3
42558948563. 4

Question Number : 53 Question Id : 42558912477 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

UM ek faaa o .
(1) T
2 =
(3) M
(4) =i
Options :

42558948564. 1
42558948565. 2
42558948566. 3
42558948567. 4

Question Number : 53 Question Id : 42558912477 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

samfa e foe afy .
(1) T
(2 =
@ =
(4) =R
Options :

42558948564. 1
42558948565. 2
42558948566. 3
42558948567. 4



Question Number : 54 Question Id : 42558912478 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FOT 37 AN FH1 Afvfq 31fe
(1) e
() RTET

)
(3) Tafeen FeFd
(4)  FOTSHH
Options :

42558948568. 1
42558948569. 2

42558948570. 3
42558948571. 4

Question Number : 54 Question Id : 42558912478 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FO AT FAWHE T o 377
(1 e
() SR

)
(3) Tafeen FeFd
(4) FOSHH

Options :

42558948568. 1
42558948569. 2
42558948570. 3
42558948571. 4

Question Number : 55 Question Id : 42558912479 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘T FUF AR Y -

(1) efEEaw

(2) FER TS fHE

(3) g

(4) FSfHIIR FH HioE’
Options :

42558948572 1
42558948573.2
42558948574. 3
42558948575. 4



Question Number : 55 Question Id : 42558912479 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘T FUF AR Y -

(1) eREEa

(2) FER TS T

(3) dEgE

(4) SSIfREIR = HfomEr’
Options :

42558948572. 1
42558948573. 2
42558948574. 3
42558948575. 4

Question Number : 56 Question Id : 42558912480 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
‘T v o Biy
(1) WYH FAR AR/

(2) A=< fag
(3) USTHHE
(4) SU=TE e’

Options :

42558948576. 1
42558948577.2
42558948578. 3
42558948579. 4

Question Number : 56 Question Id : 42558912480 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
‘T v fom Biy
(1) WHH FHT A/

(2) A=< fag
(3) USRAA
(4) o= e’

Options :

42558948576. 1
42558948577.2
42558948578. 3
42558948579. 4



Question Number : 57 Question Id : 42558912481 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hfereft Tifech formafasra oi == o 71 | dears 0 o U 9’ -

(1)  TIeTEEe =Rl

(2) T I

{3) THMHTE AT

(4) SHEH Hg
Options :

42558948580. 1
42558948581. 2
42558948582. 3
42558948583. 4

Question Number : 57 Question Id : 42558912481 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hfereft Tifech formafasra oi == o 71 | dears 0 o U 9’ -

(1)  TIeITEEe =Rl

(2) T I

(3) THAIE

(4) <EFF Hg
Options :

42558948580. 1
42558948581. 2
42558948582. 3
42558948583. 4

Question Number : 58 Question Id : 42558912482 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Trferen e’ afes groEeE B
(1) IR fog ‘A’

(2) weErEREY fHE

(3) = Tred HieR

(4) THE=A SR

Options :

42558948584. 1
42558948585.2
42558948586. 3
42558948587. 4



Question Number : 58 Question Id : 42558912482 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Trferen =i ' afea GraesE BAR
(1) =g o ‘A’

(2) TEEEARET fHE

(3) e Wred HIeRt

(4) THE=E 3T

Options :

42558948584. 1
42558948585. 2
42558948586. 3
42558948587. 4

Question Number : 59 Question Id : 42558912483 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

feremafaer s gag sfees wfar sfe -

(1) FEm <
(2) Hm <ETE
(3) wyHfa Qe
(4) ©fEHEs

Options :

42558948588. 1
42558948589. 2
42558948590. 3
42558948591. 4

Question Number : 59 Question Id : 42558912483 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

feremafaer s gag sfees wfar sfe -

(1) FEw <R

(2) Hm <ETE

(3) wyHfa <

(4) ©fEEE
Options :

42558948588. 1
42558948589. 2
42558948590. 3
42558948591. 4



Question Number : 60 Question Id : 42558912484 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘wrvETEia fafyen T’ & 27e FvE A -
(1) TR F0E

(2) WY FUE

(3) TSR FUE

(4) Terfer=en e

Options :

42558948592. 1
42558948593. 2
42558948594. 3
42558948595. 4

Question Number : 60 Question Id : 42558912484 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Tyarafia fafyen THEm’ & ore #vE o -
(1) TR F0E

(2) Y FwUE

() T FIE

(4) fRfep=en w0

Options :

42558948592. 1
42558948593. 2
42558948594. 3
42558948595. 4

Question Number : 61 Question Id : 42558912485 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"R’ wua o' geel W wHeE -
(1) w4 afe

(2) Tor=g afer

(3) R afF

(4 WIH AH

Options :

42558948596. 1
42558948597.2
42558948598. 3
42558948599. 4



Question Number : 61 Question Id : 42558912485 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"Ten’ WY W' geEl W EHR -
(1) w9 a1

(2) fo=sg =

(3) W afE

(4) AT ST

Options :

42558948596. 1
42558948597. 2
42558948598. 3
42558948599. 4

Question Number : 62 Question Id : 42558912486 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘R gueETs faved @1 -

(1) e
(2) W
(3) vareH
(4) YooEH
Options :

42558948600. 1
42558948601. 2
42558948602. 3
42558948603. 4

Question Number : 62 Question Id : 42558912486 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘R gueETs faved @1 -

(1) ereaEd
(2) W
(3) TareH
(4) vEoEH
Options :

42558948600. 1
42558948601. 2
42558948602. 3
42558948603. 4



Question Number : 63 Question Id : 42558912487 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"y’ HeTeRe Al -
(1) =7E |4

(2) =9 @™

(3) =13 TH

(4) i wH

Options :

42558948604 1
42558948605. 2
42558948606. 3
42558948607. 4

Question Number : 63 Question Id : 42558912487 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘T e Al -
(1) =RE&H

(2) &9 @MW

(3) =13 TH

(4) 0 TIH

Options :

42558948604 1
42558948605. 2
42558948606. 3
42558948607. 4

Question Number : 64 Question Id : 42558912488 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Hoer wR W fs’ - 3 sfa farer -

-~

(1) e
(2 YT
(3) YTE
(4) g
Options :

42558948608. 1
42558948609. 2
42558948610. 3
42558948611. 4



Question Number : 64 Question Id : 42558912488 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘TR AR afs’ - € SfE o -

[

(1) =
2 9=
(3) YHE
(4) grmR
Options :

42558948608. 1
42558948609. 2
42558948610. 3
42558948611. 4

Question Number : 65 Question Id : 42558912489 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Herehfa faamafa ‘ gea-wien’ foeat -

(1) TafdEs s

() =ifdfees s

3) foafde srerd

@) HRfdes T
Options :

42558948612. 1
42558948613. 2
42558948614. 3
42558948615. 4

Question Number : 65 Question Id : 42558912489 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Herehfa fammafa ‘ gea-wiien’ foeat -

(1) Tafdes s

() =ifdfees s

() foafde srard

@) HRfdEE T
Options :

42558948612. 1
42558948613.2
42558948614. 3
42558948615. 4



Question Number : 66 Question Id : 42558912490 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

" SrelTeereh TAEH el 9w qas Y Afe AAfe, Saew 9fe 9@ o1 fomr a1 { St B -

(1) THF 36
(2) ST FF
(3) =Y FF
(4) THSE AF

Options :

42558948616. 1
42558948617. 2
42558948618. 3
42558948619. 4

Question Number : 66 Question Id : 42558912490 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

" SrelTeereh TAEH el 9w qas Y Afe AAfe, Saew 9fe 9@ o1 fomr a1 { St B -

(1) THE 6
(2) HHTANY HF
(3) =Y FF
(4) THH FF

Options :

42558948616. 1
42558948617. 2
42558948618. 3
42558948619. 4

Question Number : 67 Question Id : 42558912491 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o1 FeEeres Wieram R T e merfeerar <t o1 -

(1) =ATERE

(2) Ufaerfasmars
(3)  friiferrdrs
(@) IREdTeieras
Options :

42558948620. 1
42558948621.2
42558948622. 3
42558948623. 4



Question Number : 67 Question Id : 42558912491 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o1 FeEeres WieRam R T e merfeerdr <t o1 -

(1) =ATERF

(2) e
(3) sriferepars
(4) uftadstierars
Options :

42558948620. 1
42558948621. 2
42558948622. 3
42558948623. 4

Question Number : 68 Question Id : 42558912492 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 37 S Gy s -
(1) EH-gdEh

(2) TEI-9IdreE

(3 Ae-adE

(4) WEIR-afeTh
Options :

42558948624. 1
42558948625.2
42558948626. 3
42558948627. 4

Question Number : 68 Question Id : 42558912492 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

a3 ey Gay 2w -
(1) Wr-gaEs

(2) TTEI-rdieE

(3) wE-aEiw

(4) He-afeT®
Options :

42558948624. 1
42558948625.2
42558948626. 3
42558948627. 4



Question Number : 69 Question Id : 42558912493 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g fage wE ufaures sy -
(1) = Td Ao
(2) ik T wAI
(3) T
(4) T
Options :

42558948628. 1
42558948629. 2
42558948630. 3
42558948631. 4

Question Number : 69 Question Id : 42558912493 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

4rg s 9qE ufauees =9 -
(1) &1 E HFer
(2) ik W& wHEI
(3) TR
(4) e
Options :

42558948628. 1
42558948629. 2
42558948630. 3
42558948631. 4

Question Number : 70 Question Id : 42558912494 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HiarTH =1 Hiered foregs SRy ot -
(1) e g S
(2) HYER FE TR
(3)  TIENER TR FOmH
(4) SEHETE IO
Options :

42558948632. 1
42558948633.2
42558948634. 3
42558948635. 4



Question Number : 70 Question Id : 42558912494 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hrarm = Sfere foma SRy ety -
(1) S e Yo
(2) AT FF T
(3) TSR TR FOmH
(4) SEHETR IO
Options :

42558948632 1
42558948633. 2
42558948634. 3
42558948635. 4

Question Number : 71 Question Id : 42558912495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FiEr e Tyu s Sfes wAeie sea Afe -

(1) <rmEws
(2) ISR
(@) T ot
(4) =R
Options :

42558948636. 1
42558948637. 2
42558948638. 3
42558948639. 4

Question Number : 71 Question Id : 42558912495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FieEr T Tyu s St wAeie sea 1fe -

(1) <rETs
(2) ISR
(3) g g
(4) AT
Options :

42558948636. 1
42558948637.2
42558948638. 3
42558948639. 4



Question Number : 72 Question Id : 42558912496 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

" shforer TN ABNE Hediw e’ - § %A Bl -

(1) A= faars
(2) W YRgEE
(3) T H

(4) SR 9%

Options :

42558948640. 1
42558948641.2
42558948642. 3
42558948643. 4

Question Number : 72 Question Id : 42558912496 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

" Shferier T AEE oA Te’’ - § wed o -

(1) rA= feantts
(2) HIEd YRESH
(3) THEM T

(4) I 49

Options :

42558948640. 1
42558948641.2
42558948642. 3
42558948643. 4

Question Number : 73 Question Id : 42558912497 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"% i sAfve Y, TR F91 E, s dRE o sfy geeste gevH e aife -
(1) TE™ o

(2) etz HiEd 7

(3)  «fmATY e

(4) < fAgE

Options :

42558948644. 1
42558948645.2
42558948646. 3
42558948647. 4



Question Number : 73 Question Id : 42558912497 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

% gl atfver o, T F9 1 € s 9rE o sfy guesie gedf fm afe -
(1) THE o

(2) ez HEd qE

(3) =Y FF

(4) W= fAgs
Options :

42558948644. 1

42558948645. 2

42558948646. 3
42558948647. 4

Question Number : 74 Question Id : 42558912498 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

" wifecaer IR forep W’ - € e sk -

(1) Hu= 9

(2) THEM TH

(3) THTFS FATETE
(4) = fages
Options :

42558948648. 1
42558948649. 2
42558948650. 3
42558948651. 4

Question Number : 74 Question Id : 42558912498 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

" wifecasr IR ek won’’ - € e e -

(1) §¥= &R

(2) THEE T

(3) THTFES FIEEE
(4) re=a fages
Options :

42558948648. 1
42558948649. 2
42558948650. 3
42558948651. 4



Question Number : 75 Question Id : 42558912499 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TOTETe: gadTee: Yes: FTead - € 3fea o7 -

(1) #F
(2) TUEE
(3) Taveress
(4) STTENYH
Options :

42558948652. 1
42558948653. 2
42558948654. 3
42558948655. 4

Question Number : 75 Question Id : 42558912499 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TOTETe: gadTee: Yes: FTead - € 3fea o7 -

(1) #eF
(2) <UEH
(3) Taveress
(4) SETENE
Options :

42558948652. 1
42558948653. 2
42558948654. 3
42558948655. 4

Question Number : 76 Question Id : 42558912500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HERRI A -

(1 w

(2) “TAHR

(3) ®B=<

(4) sl
Options :

42558948656. 1
42558948657. 2
42558948658. 3
42558948659. 4



Question Number : 76 Question Id : 42558912500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HThl<T HAf® -

(1

(2) SETHR

(3 ®B=<

(4) vl
Options :

42558948656. 1
42558948657. 2
42558948658. 3
42558948659. 4

Question Number : 77 Question Id : 42558912501 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Hifecedu’ wife -
(1) faermeoss
(2) SHTEAIER

{3) CIELE

(4) FATEIETR
Options :

42558948660. 1
42558948661. 2
42558948662. 3
42558948663. 4

Question Number : 77 Question Id : 42558912501 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Hifecedu’ wife -
(1) fagamess
(2) SHTEAIER

{3) CIELE

(4) ITEIGTR
Options :

42558948660. 1
42558948661. 2
42558948662. 3
42558948663. 4



Question Number : 78 Question Id : 42558912502 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A eefar g fofa: - € sfa s -
(1) AT
(2) FEIH
(3) AHMAH
(@4) FHEE
Options :

42558948664. 1
42558948665. 2
42558948666. 3
42558948667. 4

Question Number : 78 Question Id : 42558912502 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A eefar g fofa: - € sfa s -
(1) AT
(2) ¥FETH
(3) AHMAH
(4) FIHRE
Options :

42558948664. 1
42558948665. 2
42558948666. 3
42558948667. 4

Question Number : 79 Question Id : 42558912503 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= HeE STER FA-FARH 26 -

(1)
2 =R
(3) =
(4) B
Options :

42558948668. 1
42558948669. 2
42558948670. 3
42558948671. 4



Question Number : 79 Question Id : 42558912503 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ST HHZF STER HeA-Jare #fe -

()
(2 =R
(3) =
(4) B3
Options :

42558948668. 1
42558948669. 2
42558948670. 3
42558948671. 4

Question Number : 80 Question Id : 42558912504 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ffwarey ‘afr g s -
(1) afaers
(2) wia aEH

(3) Y HST HELIh
(4) T9-yuTF IR AFRR

Options :

42558948672 1
42558948673.2
42558948674. 3
42558948675. 4

Question Number : 80 Question Id : 42558912504 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ffwarey ‘afr g s -
(1)  @AfyeRa
(2) wia aEH

(3) Y HSN HELIE
(4) HI-YIF YR AR

Options :

42558948672 1
42558948673.2
42558948674. 3
42558948675. 4



Question Number : 81 Question Id : 42558912505 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AT ek SEH wfa Afs -

(1) faors

(2) WETE
(3) HeeaH
(4) TR

Options :

42558948676. 1
42558948677. 2
42558948678. 3
42558948679. 4

Question Number : 81 Question Id : 42558912505 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AT ek SEH wfa Afs -

(1) faorw

(2) WEE
(3) HeeaH
(4) TR

Options :

42558948676. 1
42558948677. 2
42558948678. 3
42558948679. 4

Question Number : 82 Question Id : 42558912506 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e e T U | 28 ife miena @ o1 - Tidr 1t -

(1) =i faees

(2) TSRO

&) IEILIEERED

(4) EfEOEIOER
Options :

42558948680. 1
42558948681.2
42558948682. 3
42558948683. 4



Question Number : 82 Question Id : 42558912506 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e e T U | 28 ife wiena @ o7 - Ty 1t -

(1) =0 faaes

(2) SRR

(3) IMfersEs

(4) EfUiEIoE
Options :

42558948680. 1
42558948681. 2
42558948682. 3
42558948683. 4

Question Number : 83 Question Id : 42558912507 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘TereRTe o HerRTenyTE | e eEeE By -

(1) gu==
(2) HERE
(3) wwEd =
(4) T
Options :

42558948684 1
42558948685. 2
42558948686. 3
42558948687. 4

Question Number : 83 Question Id : 42558912507 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘TereRTe o HerRTenyTE | e eEeE By -

(1) gu=e
(2) FEew
(3) TEd
(4) TE=Em
Options :

42558948684. 1
42558948685. 2
42558948686. 3
42558948687. 4



Question Number : 84 Question Id : 42558912508 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘om Wi faEmafa s o ofy -
(1) gAY

(2) SfE

(3) TAE

(4) Fifa P =

Options :

42558948688. 1
42558948689. 2
42558948690. 3
42558948691. 4

Question Number : 84 Question Id : 42558912508 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘om Wi faEmafa s o ofy -
(1) Sgw= Ag

(2) ofiHE

(3) TAE

(4)  geifq e =esd

Options :

42558948688. 1
42558948689. 2
42558948690. 3
42558948691. 4

Question Number : 85 Question Id : 42558912509 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e 30 R s ey et -
(1) =R 37 fa=r
(2) HhRE
(3) HHS H1SA
(4) HfeeT 21 wlderg
Options :

42558948692. 1
42558948693.2
42558948694. 3
42558948695. 4



Question Number : 85 Question Id : 42558912509 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e 30 R s ey et -
(1) =T=ER 3f fa= R
(2) HHRE
(3) HHE 3
(4) wrfeeT 2 fdeig
Options :

42558948692. 1
42558948693. 2
42558948694 3
42558948695. 4

Question Number : 86 Question Id : 42558912510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T ' e B -
(1) e ¥R

(2) <E=EH

(3) TSTHREA 3

(4) TFed $ER fee ‘A
Options :

42558948696. 1
42558948697. 2
42558948698. 3
42558948699. 4

Question Number : 86 Question Id : 42558912510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T ' e B -
(1) e 9Rgrs

(2) <E=EH

(3)  TSTHREA 3

(4) FEea FAR e A’
Options :

42558948696. 1
42558948697.2
42558948698. 3
42558948699. 4



Question Number : 87 Question Id : 42558912511 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hferetis Srepress YR o1 -
(1) =@

@ dH

(3) d=

4) =R

Options :

42558948700. 1
42558948701. 2
42558948702. 3
42558948703 4

Question Number : 87 Question Id : 42558912511 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hferetis Srepress YR o1 -
(1) @

@ dH

(3) d=

4) =i

Options :

42558948700. 1
42558948701. 2
42558948702. 3
42558948703. 4

Question Number : 88 Question Id : 42558912512 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

" gfern ad o weUE |

R oHe ey s’ & -
(1) e

(2) 991

(3) T

(4) FFha

Options :

42558948704. 1
42558948705. 2
42558948706. 3
42558948707. 4



Question Number : 88 Question Id : 42558912512 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

" gfern ad o weUE |
R oHe ey o’ atfe -
(1) ™EE
(2) 991
@) SEerfa
(4)  gwa
Options :

42558948704. 1
42558948705. 2
42558948706. 3
42558948707. 4

Question Number : 89 Question Id : 42558912513 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Higd YRgee Wl 1S -

(1) TFHA TR

(2) sHAfE=R

(3) Hfen SIETE

(4) ST SFa
Options :

42558948708. 1
42558948709. 2
42558948710. 3
42558948711. 4

Question Number : 89 Question Id : 42558912513 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HiEd JRgTsTh gl a1fs -

(1) THa U

(2) MR

(3) Hiueh <9Egs

(4) SIS ey
Options :

42558948708. 1
42558948709. 2
42558948710. 3
42558948711. 4



Question Number : 90 Question Id : 42558912514 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"Tiifers e i i -
(1) <= TSFheh

(2) wETE< fAgw

(3) wEuR fiew

(4) SHTY R

Options :

42558948712. 1
42558948713. 2
42558948714. 3
42558948715. 4

Question Number : 90 Question Id : 42558912514 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"Tiifers e i i -
(1) <= TSheh

(2) WA g

(3) wEuR fiew

(4) STIHAY TR
Options :

42558948712. 1
42558948713. 2
42558948714. 3
42558948715. 4

Question Number : 91 Question Id : 42558912515 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa v3-ufssms Ywe aus TR T3S

A, AR

B. RUId

C. de@

D. fafyer wrd

E. @&:¥

frafafed faser ¥ 9@ 390 o9 F&

(1) CBDAE

(2 ECD,BA
3) A BCD,E
@) E A B,CD

Options :

42558948716. 1
42558948717.2
42558948718. 3
42558948719. 4



Question Number : 91 Question Id : 42558912515 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefefEs T ufes THem aiE TR 3@

A, T-AR
B. U

C. &

D. Tafeem st
E. @&:¥

frefafa fasre 9 98 30 999 && :
# CBDAE

2} EC D, BA

(3) A BCD,E

4) E A B CD

Options :

42558948716. 1

42558948717. 2

42558948718. 3
42558948719. 4

Question Number : 92 Question Id : 42558912516 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefefEs Su=maes TR ave gfed o1 a1fe -

A, HAY

B. %N

C. FEFd

D. &I

E. faefeum an wer
fr=fafes faFe 9 98 S0 901 F%
i DEABC
(2 B,E,CD,A
(3) A BCDE
(4) B,C A DE
Options :

42558948720. 1
42558948721.2
42558948722. 3
42558948723. 4



Question Number : 92 Question Id : 42558912516 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefefEs Su=maes TR ave gfed o1 a1fe -

A, HIH
B. AN

C. IETTE

D. &y

E. faefeum an wer

frefafiad fawea 9 98 39 =9 % .
(1) D,EA,B,C

(2) BECD,A
(3) A, BCD,E
(4) B,C, A DE
Options :

42558948720. 1
42558948721. 2
42558948722. 3
42558948723. 4

Question Number : 93 Question Id : 42558912517 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

freffiaa e Huaes Yoo ouE T Ao -

A, HSE 99l

B. Y&

C. ==EEg

D. YUY Fl

E. &Ry

frfafed faser ¥ 9@ 390 o9 F&

() B,A,CED
2 ABCED
(3) B,C,D,E A
(4) BECD,A
Options :

42558948724. 1
42558948725.2

42558948726. 3
42558948727. 4



Question Number : 93 Question Id : 42558912517 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfafEa el dUes THuH FUF ATH 70 -

A, HSE 99l
B. SigEW
C. ==Eg
D. UYEE FHAl
E. BT

frefafa fasre 9 98 30 999 && :
(1) B, ACED

2} ABCED

3) B,CD,EA

4) B,E,C,D A

Options :

42558948724. 1

42558948725. 2

42558948726. 3
42558948727. 4

Question Number : 94 Question Id : 42558912518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SHAYE SR T FHfeTh APRH Ao -
A, U= e R

B. =l yHrg e

C. THEFvSy Yardl

D. ofHAe

E.  wifaarrgofay

frefafaa fawes ¥ of s =27 %
4 BAERCD

(2) ABCED

(3 CAED,B

(4) ED,C B A

Options :

42558948728. 1

42558948729. 2

42558948730. 3

42558948

731. 4



Question Number : 94 Question Id : 42558912518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SHAYE SR T FHfeTh APRH Ao -
A, 397 e (HE’
B. =l yHg fHg
C. TWrhvsy Jardl
D. =T
E.  wifaarrgofay
frefafeg fosrey 4 9f S0 =91 &%
i BARCDH
(2) ABCED
(3) C AED,B
(4 ED,C B A
Options :

42558948728. 1
42558948729. 2
42558948730. 3
42558948731. 4

Question Number : 95 Question Id : 42558912519 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘o1l v S ST S -

A, S

B.  amgeH

C. oM

D. 3l

E.  e®

frefafaa fawen ¥ a8 s =27 F%

(1) D,EB,C A
(2 ED,C B, A
3) A,BCDE
@) B,ADGCE

—

Options :

42558948732. 1
42558948733.2
42558948734. 3
42558948735. 4



Question Number : 95 Question Id : 42558912519 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

' 3Tl ek S SAIEH A -
A, HAEHT

B.  SgEH

C. ol

D. 3

E.  e®

frfafad fasre 9 98 30 999 && :
(1) D,EBCA
) ED,CBA
3 A BC D E
4) B,AD,GCE

—

Options :

42558948732 1
42558948733.2
42558948734. 3
42558948735. 4

Question Number : 96 Question Id : 42558912520 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ifec STFIeHT BN T0ERd Tadeh 90 37 -

A. I

B. Tl

C. YHEH T4 D

D. wha oife fas

E. 9% eied w-aeqy

frefafas fases ¥ 9@ s =297 %

# ACEBRD
2y CABED
(3) A, B,CED
(4 BED,CA
Options :

42558948736. 1
42558948737.2

42558948738. 3
42558948739. 4



Question Number : 96 Question Id : 42558912520 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ifec STFIeHT BN T0ERd Tadeh 90 37 -

A, TafEH

B. Tl

C. M T4 D
D. tha offe fas
E. 9% eied w-aeqy

frefafa fasre 9 98 30 999 && :
(1) A CEBD

2y CABED

(3) A BCED

4 BEDCA

Options :

42558948736. 1

42558948737. 2

42558948738. 3
42558948739. 4

Question Number : 97 Question Id : 42558912521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfafea T STUfaERiE T9F A -
A, vEfHg
B. <alde
C. Hifarde
D. fuafds
E. U9
frefafas fawes 9 @ s =297 %

(1) A BCD,E
(2 EC A BD
3) GCED,BA
@) B ACED

—

Options :

42558948740. 1
42558948741.2
42558948742. 3
42558948743. 4



Question Number : 97 Question Id : 42558912521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfafea T STUfaERiE T9F A -
A. wafge

B. <afgs

C. Hifarde

D. fuafas

E. U9

frefafeg fosrey 4 9f S0 =919 &%
(1) A BCDE

(2) EC A BD

(3) CED,B,A

(4 B,ACED

Options :

42558948740. 1
42558948741. 2
42558948742. 3
42558948743. 4

Question Number : 98 Question Id : 42558912522 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"I gt W ST STIE S -
A, oo gegH

B. ohon faem

C. Tomamig o1 foeres

D. fosn %A

E.  Ora-gsn 9fies

fr=fafea fawed ¥ A& STF 999 FE
(1) B,AECD

(2) A BCD,E

(3) CB,AED

(4) ED,C B A

Options :

42558948744. 1
42558948745.2
42558948746. 3
42558948747. 4



Question Number : 98 Question Id : 42558912522 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"I gt W ST STIE S -
A, Toremor Hegm

B. kol faieqm

C. Tomamfy o1 forers

D. foen A

E.  Hro-gsl 9ie

frefafa fasre 9 98 30 999 && :
(1) B, AECD
(23 A,B.CDE
@) CBAED
4 ED,CBA
Options :
42558948744. 1
42558948745. 2

42558948746. 3
42558948747. 4

Question Number : 99 Question Id : 42558912523 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
faferen fafeter frfafaa groess s Fy Afe -
A, SHRA 7 SR

B. Y= 'gAd’

C. foropsmr=t = gmet

D.  hfYeryer o el

E. iy 9) e

frefafas fawes ¥ @ s =27 %

() E,D,CBA
(2) D,GEBA
(3) C A D,BE
(4) B,CEAD
Options :

42558948748. 1
42558948749. 2

42558948750. 3
42558948751. 4



Question Number : 99 Question Id : 42558912523 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

faferen Tafewr Fefafeaa grress sy A -

A, SRS = SR
B. W=y

C. foropmr=t = gmet
D. erver 3 Imet
E.  Quiy R e

frefafas fase 9 98 30 999 && :
(1) ED,C B, A
(23 D,CEBA
3) C A D,BE
4) B,CEAD
Options :
42558948748. 1
42558948749, 2

42558948750. 3
42558948751. 4

Question Number : 100 Question Id : 42558912524 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefafaa v3-ufssms Yemm aus TR T3S
A, FOHA

B. dgdl

C. Tufyen wr

D. w@W

E. fafyen 9g

frefafas fases ¥ o8 s =27 %

() D,B,C AE
() ED,BC A
(3) CD,E B, A
(4 B,CED,A
Options :

42558948752. 1
42558948753.2

42558948754. 3
42558948755. 4



Question Number : 100 Question Id : 42558912524 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefefEs T ufes THem aiE TR 3@
A, HOHA

B. dg&l

C. Tafeem st

D. W

E. fofyen 0"

frefafeg fosrey 4 9f S0 =919 &%
(1) D,B,C AE

(2) ED,BC A

(3 C,D,EB A

(4) B, CED,A

Options :

42558948752. 1
42558948753. 2
42558948754. 3
42558948755. 4

Question Number : 101 Question Id : 42558912525 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

B

6

D. HEHEF Ao
E. Ak M SieH

frefafas fasres 9 98 30 =99 &5
(1) CD,EB,A

(2) EAD,BC

(3) B,C DEA

(4) CD,E A B

Options :

42558948756. 1

42558948757. 2

42558948758. 3
42558948759. 4



Question Number : 101 Question Id : 42558912525 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Aferkars Frfafag Tews W TiE gfted srEy TS

A, TF A T

B. YdmEA

C. Imeen

D. EEE oA

E. ¥k 9M Sed

frefafad fasre 9 98 30 999 && :
(1) CD,EB A
2 EA,D BC
3) B,CD,EA
4 C,D,EAB
Options :
42558948756. 1
42558948757. 2

42558948758. 3
42558948759. 4

Question Number : 102 Question Id : 42558912526 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefefEa Jorers Bfee Tesd T avE gfed ST F <Es -

A. =N foeme
B. WY&
C. fo=n faem
D. @ftves oM
E. Hfgd Feemms
fr=fafes fawes ¥ @& ST =90 F% ¢
(1) A CD,EB
(2) CBAED
(3} E,A,D,BC
(4 D,B,ACE
Options :

42558948760. 1
42558948761.2
42558948762. 3
42558948763. 4



Question Number : 102 Question Id : 42558912526 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefefEa Jorers Bfee Tesd T avE gfed ST F <Es -

A, BOI foemg
B. WY
C. fo=n foem
D. ®Rye=E T
E. Hfed FeeEm

frefafa fasre 9 98 30 999 && :
# ACDESB
(23 CBAED
@) EAD,B,C
4 D,B ACE
Options :
42558948760. 1
42558948761. 2

42558948762. 3
42558948763. 4

Question Number : 103 Question Id : 42558912527 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa s Tefts TR aviF TR < S

A, gurfureRt

B. Hfereit w9 faar

C. Ya9-H7E

D.  TEdEE

E.  hreqHmE

frefafaa fawen ¥ 9@ s =27 F%

() CD,BEA
0 EEDBA
(3) A,CEBD
(4 C,AEDB
Options :

42558948764. 1
42558948765. 2

42558948766. 3
42558948767. 4



Question Number : 103 Question Id : 42558912527 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa s Tefts TR aviF TR < S

A, urfuTeR

B. Hfue w3 faan
C. YaY-H7E

D.  TTEAAE

E.  hreqHmE

frefafad fasre 9 98 30 999 && :
() CD,BEA
(23 CEDBA
(3) A CEB,D
4 CAEDB
Options :
42558948764. 1
42558948765. 2

42558948766. 3
42558948767. 4

Question Number : 104 Question Id : 42558912528 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A. RN
B. ki
C. &
D. agifa
E.  iehehdl
frefafaa fawen ¥ a8 e =27 F%

(1) G, B AED
2 B.ADCE
(3) B,AECD
4 ABDEC

Options :

42558948768. 1

42558948769. 2

42558948770. 3
42558948771. 4



Question Number : 104 Question Id : 42558912528 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AforeT fes TRdTecad ARt STRA 7S

A.  @EFETmen
B. @k
C. dreg
D. ®shafa
E.  iehehdl

frefafiad fawea 9 98 39 =9 % .
(1) CBAED

2 B.ADCE
(3) B,AECD
@4 A, BD,EC
Options :

42558948768. 1
42558948769. 2
42558948770. 3
42558948771. 4

Question Number : 105 Question Id : 42558912529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfafea SR Taw STIFH 310
A, 39TEH
B. Hm
C. famm
D. HUed
E. =f&r

frefafas fosre 9 98 0 999 +& :
() C,D,ABE

(2) BE ACD
(3) EB,CA,D
(4) B,ED,AC
Options :

42558948772. 1
42558948773.2
42558948774. 3
42558948775. 4



Question Number : 105 Question Id : 42558912529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfafea SR Taw STIFH 310
A, 3YTEH

B. H&X

C. famm

D. HUed

E. =f&r

frefafa fasre 9 98 30 999 && :
(1) CD,A,BE

(2 B,EACD

@) EB,CAD

4 BEDAC

Options :

42558948772. 1

42558948773. 2

42558948774. 3
42558948775. 4

Question Number : 106 Question Id : 42558912530 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfafaa & F Fofe F9E T FeE
A, AERE

B. Tfurefee

C. wfxfde

D. R fHg

E.  UMYEcd

frfafed faser ¥ 9@ 300 =27 %
(1) WEDTUEB

(2) WHATWEC

(3) WECUE

(4) THATIE
Options :

42558948776. 1
42558948777.2
42558948778. 3
42558948779. 4



Question Number : 106 Question Id : 42558912530 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafes & F Foie s T Fee
A, TEEE

B. Trafde

C. vfide

D. w&HveR fHg

E.  {mWYged

frefafeg fosrey 4 9f S0 =919 &% ¢
(1) ¥E DTUEB

(2) WHATWEC

(3) WEICUHE

(4) THATIE
Options :

42558948776. 1
42558948777. 2
42558948778. 3
42558948779. 4

Question Number : 107 Question Id : 42558912531 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafas 7 & oo = &
A. SR THET

B.  GURERI

C. Hmf= smefas

D. Hifes g&aH

E. fafeen T

frfafaa foker ¥ 98 s =91 F&
(1) WHATIE

(2) WACTED

(3) WHATID

(4 WEBUWEC

Options :

42558948780. 1
42558948781.2
42558948782. 3
42558948783. 4



Question Number : 107 Question Id : 42558912531 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafes & o e = Afe
A. ST THE0

B. B

C. dHmf< srenaes

D. rfast g&am

E. fafyen ae=s

frefafeg fosrey 4 9f S0 =919 &% ¢
(1) WEATSE

(2) WHACUSD

(3) WEATUWD

(4) TWHEABTEC
Options :

42558948780. 1
42558948781. 2
42558948782. 3
42558948783. 4

Question Number : 108 Question Id : 42558912532 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HEIRG T AT Fefaias gesrss &1

A, IEB=

B.  Hitsn qegs
C. ef=Hfd
D. H9ER

E. &9 =@
frfafed faser ¥ 9@ 390 o1 F&
(1) A ATEC
(2) WHABUWED
(3) WECUE
(4 "WHATD
Options :

42558948784. 1
42558948785.2
42558948786. 3
42558948787. 4



Question Number : 108 Question Id : 42558912532 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

[N 9 S FAfaias weress &1 .

A, B
B.  Widsn g
C. afd
D. g

E. &9 9|

frefafeg fosrey 4 9f S0 =919 &% ¢
(1) TAATEC

(2) WA BUWID

(3) WEICUHE

(4) WHAATED
Options :

42558948784. 1
42558948785. 2
42558948786. 3
42558948787. 4

Question Number : 109 Question Id : 42558912533 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘qae’ wvesEE 9ia A

A. &Y
B. 7T
C. Hfufest
D. 3N
E. 4™
frfafaa foker ¥ 98 s =91 F&
(1) WHATD
(2) WHEBWIE
(3) WECTD
(4) WHATSE
Options :

42558948788. 1
42558948789. 2
42558948790. 3
42558948791. 4



Question Number : 109 Question Id : 42558912533 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘qqq’ EvesETE 9 i

A g
B. 3
C. it
D. I

E. oW

frefafeg fosrey 4 9f S0 =919 &% ¢
(1) THAATED

(2) WHABUAE

(3) WECUWID

(4) THATIE
Options :

42558948788. 1
42558948789. 2
42558948790. 3
42558948791. 4

Question Number : 110 Question Id : 42558912534 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T SA9YY § s FEfatad um o1t

A, Hfued

B. Hrgdl

C. TR

D. smfrar

E. fa=i

frfafaa foker ¥ 98 s =91 F&

(1) WHATD

(2) WHATE

(3) WECTD

(4 WEBUID
Options :

42558948792 1
42558948793.2
42558948794. 3
42558948795. 4



Question Number : 110 Question Id : 42558912534 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et Yy ¥ seine fefatad am s

A, Hfored
B. Hregdl
C. Wl

D. smfar
E. fo=hi

frefafeg fosrey 4 9f S0 =919 &% ¢
(1) THAATED

(2) WHATE

(3) WECUWID

(4) WHEBTED
Options :

42558948792. 1
42558948793. 2
42558948794. 3
42558948795. 4

Question Number : 111 Question Id : 42558912535 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefofea o wme o
A, EED

B. AR

C. e

D. 3ars

E.  313R

frfafed faser ¥ 9@ 390 o1 F&
(1) WA ATUWEB

(2) FAATEC

(3) ®WEBUTAC

(4) TEADWEE
Options :

42558948796. 1
42558948797.2
42558948798. 3
42558948799. 4



Question Number : 111 Question Id : 42558912535 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa Sere oms foref
A TEES

B. #UR

C. e

D. 3fSErs

E. 78R

frefafeg fosrey 4 9f S0 =919 &% ¢
(1) T ATEB

(2) WHATWEC

(3) WEIBTUWEC

(4) WHEADTUTIE
Options :

42558948796. 1
42558948797. 2
42558948798. 3
42558948799. 4

Question Number : 112 Question Id : 42558912536 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefofieaa & wews Aefmars T Af
A, F9EH

B. T el UM

C. fots, fomg o =

D. 3w

E.  ®o% AR

frfafaa foker ¥ 98 s =91 F&
(1) W ATEB

(2) WACTED

(3) ¥WEDUWSE

(4 WEBUWEC

Options :

42558948800. 1
42558948801. 2
42558948802. 3
42558948803. 4



Question Number : 112 Question Id : 42558912536 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa o we= AT Uahin 3o
A, F9gH

B. T Z%E UM

C. Toxq, T o1 A

D. Sl

E. dcl% AR

frefafeg fosrey 4 9f S0 =919 &% ¢
(1) T ATEB

(2) WHACUSD

(3) WEIDUSE

(4) TWHEABTEC
Options :

42558948800. 1
42558948801. 2
42558948802. 3
42558948803. 4

Question Number : 113 Question Id : 42558912537 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafas & & o< yar 1o
A, T

B. @ik

C. 9MH

D. wH

E. I

frfafaa foker ¥ 98 s =91 F&
(1) W ATEB

(2) WHABTWEC

(3) HWEBTUSE

(4 WECTWD
Options :

42558948804. 1
42558948805. 2
42558948806. 3
42558948807. 4



Question Number : 113 Question Id : 42558912537 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafes & o =< TR 1o .
A, T

B. d@Ifuik

C. WwH

D. WH

E. Wi

frefafeg fosrey 4 9f S0 =919 &% ¢
(1) W ATSEB

(2) WHABUEC

(3) WEIBUSE

(4) WHACTID
Options :

42558948804 1
42558948805. 2
42558948806. 3
42558948807. 4

Question Number : 114 Question Id : 42558912538 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfefEa @i 39 &l
A, HEFE

B. i fosa

C. fommfa

D. wRdiE faenfes

E.  c@si-Faei
frfafaa foker ¥ 98 s =91 F&
(1) WEBTUEC

(2) WA DWE

(3) HWEBTUSE

(4 WHATC
Options :

42558948808. 1
42558948809. 2
42558948810. 3
42558948811. 4



Question Number : 114 Question Id : 42558912538 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafes o & su=ma aif
A.  HIEFTA

B. itk fasa

C. fo=mafa

D. YRdrEF faenfs

E.  cee-$aei

frefafas foasre 9 98 30 999 && :

(1) "WEBTIC
(2) WA DUWIE
(3) WEIBUSE

(4) THAATEC

Options :

42558948808. 1
42558948809. 2
42558948810. 3
42558948811. 4

Question Number : 115 Question Id : 42558912539 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa 7 S fags fem afs .

A, A y@l q yfersafa

B.  WNdrg Tdsan Hurd ¥ frfens dreH
C. Fndarg i1 sy diuet wifec
D. sy Aiue e @ sk gueE
E. fommufa e Feaemeia gfe
frfafed fawey ¥ o o0 =1 #&

(1) WHABTID
(2) WHACTUSE
(3) WHATID
(4) THEABUTIE

Options :

42558948812. 1
42558948813.2
42558948814. 3
42558948815. 4



Question Number : 115 Question Id : 42558912539 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Frefafeaa # sawm fgs ey ofs -
A, Ayl A yfesfa
B. YR Tl WumH | fafereres dreH
C. Feedeng i1 eTfTer Hered wfee
D. snyfer #fue e ; s gvE
E. fommofa Tiras weaemeis gfie
frefafeg fosrey 4 98 S0 =91 &% ¢
(1) "AEABTED
(2) WHACTUSE
(3) WEATUWD
(4) THEABUTIE

Options :

42558948812. 1
42558948813.2
42558948814. 3
42558948815. 4

Question Number : 116 Question Id : 42558912540 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfafea ® 9= 31 ‘g9 §9eE 3
A, Tafyer g

B. Tufyen fafex

c. fufyen Or

D. @Y

E.  Hfyel ifecs 9=

frfafed faser ¥ 9@ 390 o1 F&
(1) WEDUSE

(2) WHACTID

(3) #WEBTAD

Options :

42558948816. 1
42558948817.2
42558948818. 3
42558948819. 4



Question Number : 116 Question Id : 42558912540 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafes o gt o ‘g9 g 9
A. Tafeer ard

B. Tafyen fafex

c. fafyen o

D. @Ry

E. e gife o=

frefafeg fosrey 4 9f S0 =919 &% ¢
(1) WHADTUTIE

(2) WHACTUSD

(3) WEBUWED

(4) THATIE
Options :

42558948816. 1
42558948817. 2
42558948818. 3
42558948819. 4

Question Number : 117 Question Id : 42558912541 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafes & o Teeaes = &t
A, @i

B. e 339 TH = WHd

C. 9-%d

D. fasifern

E.  sT=red

frfafed faser § O@ 300 =27 %
(1) WHATD

(2) WHACTUSE

(3) #WEBTAD

(4) THETHA
Options :

42558948820. 1
42558948821.2
42558948822. 3
42558948823. 4



Question Number : 117 Question Id : 42558912541 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefefeaa o F Teedes = a1
A, @

B. O 339 M TR EHY

C. WER-Fd

D. fasifem

E.  af=led

frefafeg fosrey 4 9f S0 =919 &% ¢
(1) "WHATID

(2) WHACTUSE

(3) WEBUWED

(4) THETHA
Options :

42558948820. 1
42558948821. 2
42558948822. 3
42558948823. 4

Question Number : 118 Question Id : 42558912542 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

B

C. Ty =R fafeen Tamo

D. e

E. fafyer am ame

frfafed faser § O@ 300 =27 %

(1) ®EBUID

(2) WACTEA

(3) WHETED

(4) WA BTUSE
Options :

42558948824. 1
42558948825.2
42558948826. 3
42558948827. 4



Question Number : 118 Question Id : 42558912542 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=<1 3k Fid &S

A, UM

B. dAwgH

C. HyaR afta fafoen Tamm
D. ke

E.  Taféem amm e
frefafeg fosrey 4 98 S0 =91 &% ¢
(1) ¥WEBUWSD

(2) WHACTSA

(3) WHEWID

(4) THEABUTIE
Options :

42558948824. 1
42558948825. 2
42558948826. 3
42558948827. 4

Question Number : 119 Question Id : 42558912543 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fammafaes 1 =19 .

A. % B9 gE wEafe L afe Ay S

B. 3T@EA WIYE HI¥E 3 UH Hel AR

C. wFHFYA died 6T Tl Fqufe ga a4 Ffhg o
D. T9a SieA g fufer e, Taes vy g8 oA o
E.  AMR-ARR B 1 wiweA-5 e #R1

frefafea fosres 9 Of 90 =51 &
(1) AEATC

(2) "WEBUID

(3) WEIBUHA

(4) WHEUWSD
Options :

42558948828. 1
42558948829. 2
42558948830. 3
42558948831. 4



Question Number : 119 Question Id : 42558912543 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ferzmafaer 92 #1fe .

A. % B9 g@ whedfe ¥ dfe Ay Sy

B. @A W¥E WY €3 U1 W HHE

C. THFYH dIed T T Fqufe 9a a4 Ffmg a1
D. Y5 Seq gg fafa 19, Taes 9 g8 @ed od
E.  AR-ARR B 1 Hiera-5E e #)
frfafaa fores ¥ 98 s =1 F&

(1) AEMATC

(2) WEBUID

(3) ¥WEBTUIA

(4) WHEUWSD
Options :

42558948828. 1
42558948829. 2
42558948830. 3
42558948831. 4

Question Number : 120 Question Id : 42558912544 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafiaa ok Feia qws W wfec AFRH Ta qTE ard 31

A, T=TY g e
B. 3Ug 3N ‘Hed'
C. sfuTgam

D. Sfiae

E.  Shifqamor g

frfafes fasea 9 98 =F =991 &% ¢
(1) T ATIB
(2) WHABUAE
(3) WEAUWC
(4) WEIDUSE

Options :

42558948832. 1
42558948833. 2
42558948834. 3
42558948835. 4



Question Number : 120 Question Id : 42558912544 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A, ==Y g e
B. 3% 3 ‘HEd’
C. «mTam

D. SiE@m

E.  hifaamagor fag

(3) WEATWC
(4) W EDUSE

Options :

42558948832. 1
42558948833.2
42558948834. 3
42558948835. 4

Question Number : 121 Question Id : 42558912545 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ST y9Te fHes Frew &1
A, FEA-oal sHEE 6 B,
forefa-fagra wmar |
B.  YaHAW Y G TH WA
g afeam ffa-serdies Hive
C. I59 Ted gfed Tfrer, &1 s U O 2 & 30 |
T I GAE Te W, MY Uiel TR 7o |
E. v § gUva g9 3992 189 Wi: T |
frefafea fawed O @& 300 997 +5 ¢
(1) ¥ ATIB
(2) WEBTUWEC
(3) WEICUID
(4) THATE
Options :
42558948836. 1
42558948837. 2

42558948838. 3
42558948839. 4




Question Number : 121 Question Id : 42558912545 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T yHTE THes Frey e
A, FHA-Ta S 94 B,
fagfa-fagha mam 1|
B. YaaH X U TH §H=Id
gy HieshTer fofa-smrdres Fre
C. =9 Ba gafed Ffaem, o1 99 U 6 2ed & S |
T TRk Ge Tet MR, ey Uie SR Het |
E. Y8 ¥ g g, 3978 164 UN: HHR |
frafafes fase O 98 =0 974 +5 ¢
(1) HHATIB
(2) WHEBTEC
(3) HWECUSD
(4) WHATIE
Options :
42558948836. 1
42558948837. 2

42558948838. 3
42558948839. 4

Question Number : 122 Question Id : 42558912546 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfafea 7 Ararfecs a6y a9
A, TEE AE0 T

B.  TTHIEA 3

C. hTHwe o

D. Yged FAR fHe ‘A0’

E. 9= =

frefafay faseg ¥ a8 S =91 % ¢

(1) "WECTIE
(2) AR ATD
(3) WEBUWED
(4) WHATEC

Options :

42558948840. 1
42558948841. 2
42558948842. 3
42558948843. 4



Question Number : 122 Question Id : 42558912546 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefofea & drraTfecrs wig 3y
A, HEE A0 W
B.  IHIEA M
C. FHwE o
D. ¥ged FAR fHe ‘w5’
E. Qug el
frefafeg fosrey 4 9f S0 =919 % ¢
(1) ¥WHCTWE
(2) WHATWED
(3) WEBUWED
(4) THAATEC
Options :

42558948840. 1
42558948841. 2
42558948842. 3
42558948843. 4

Question Number : 123 Question Id : 42558912547 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ffafEa 0 WA YRgeT STe=HTeF Well 317 ¢

A, THA TR
B. famsi

C. g TH ¥ qife fagi

D. ey

E. 3

frfafaa foker ¥ 98 s =91 F&
(1) WHATD

(2) WHABUWED

(3) WECUE

(4) WHATSE
Options :

42558948844. 1
42558948845.2
42558948846. 3
42558948847. 4



Question Number : 123 Question Id : 42558912547 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafas o Ord yRgres AeTEEeTE et 217

A THA UR
B. fom
C. ¥ A ¥ it fagh
D. TEwd
E. 39

frefafeg fosrey 4 9f S0 =919 &% ¢
(1) THAATED

(2) WA BUWID

(3) WEICUHE

(4) THATIE
Options :

42558948844. 1
42558948845. 2
42558948846. 3
42558948847. 4

Question Number : 124 Question Id : 42558912548 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa & snfas sags Tew o fe
A. 9SH 9Rd

B.  gifam gumm

C. UAl &de fed

D. @i T

E. o7 yufe we afe

frfafaa foker ¥ 98 s =91 F&
(1) WHATD

(2) WHACTSE

(3) ¥HATEB

(4 WECTWD

Options :

42558948848. 1
42558948849. 2
42558948850. 3
42558948851. 4



Question Number : 124 Question Id : 42558912548 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfefan & sRfa= ST ek 31 -
A, EH HRd

B.  sifaq gumH

C. U Fa* feA

D. @i W

E. anf1 yufe wa a1

frefafeg fosrey 4 9f S0 =919 &% ¢
(1) THAATED

(2) WHACTUSE

(3) WEATUEB

(4) WHACTID
Options :

42558948848. 1
42558948849. 2
42558948850. 3
42558948851. 4

Question Number : 125 Question Id : 42558912549 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Weg Viferdeh TR 3

A, TS

B. &=

C. 9T

D. HHAl

E. &
frfafaa foker ¥ 98 s =91 F&
(1) WHAATEC
(2) TWHATEB
(3) HWHATWIE
(4 WAEUWSD

Options :

42558948852 1
42558948853.2
42558948854. 3
42558948855. 4



Question Number : 125 Question Id : 42558912549 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YIeg OfeRTe UhR Af®
A, oAl
B. T
C. g
D. HHa
E. oo

(3) WEATUSE
(4) WHETWD

Options :

42558948852 1
42558948853.2
42558948854. 3
42558948855. 4

Question Number : 126 Question Id : 42558912550 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frfafiaa dref s smn § foea 1@ - e &%
eI -1

(ureft) ( TSTeR 31T )
(A) VregeEER U FeEetadR TG () fovamm & s
(B)  yufEm (1) ¥, R FRfdes s
(C) fayrmERr (1) . Safdes TEE
(D) faEEEd (1v) . fafemmm qofees s
frefafas faswey ¥ @& SwF 991 55

(L) (A)-(D), (B}-(IL), (O)-(11), (D)-(1V)
(2 (A1), (B)-(II), (©O)-(), (D)-(IV)
(3)  (A)-(I), (B)-(1L), (©)-(IV), (D)-(I)
@) (A)-(IV), (B)(I), (C)-(IT), (D)D)

Options :

42558948856. 1

42558948857. 2

42558948858. 3
42558948859. 4



Question Number : 126 Question Id : 42558912550 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

et drefl T @ o forma 19’ -

-1
(reft)

(A) FagEEgR Ud SageEEER THOTT

(B) ARl
(C) favrmER
(D) foEATEeE

frefafas fasres 9 9& s 999 F€ ¢

(D) (A)(D), (B)-(ILL), (C)-(I), (D)-(IV)
(2) (A1), (B)-(I1L), (C)-(1), (D)-(IV)
(@) (A, (B)-(I), (O-(IV), (D)-(I)
(4)  (AIV), (B)-(D), (C)-(1T), (D)-(II)

Options :

42558948856. 1

42558948857.2

42558948858. 3
42558948859. 4

T %%
TqE-11
( TSITeR 3T )
() favamm gd@E amE
(1) ¥. TR TG ARH
(1) 7. Safdes s
(1v) . frftamrm qufees s

Question Number : 127 Question Id : 42558912551 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

frefafas oifec s QR & g&as 97 faam &% .

-1

(g )
(A) Wrfecy sTeRTeHT Tl JUEhN
(B) Wrfecy sTRIeH] gaT U=k
(C) wIfeca TFRIGHT a6 TR
(D) Wfed SFFGH! FTAG TEFN

frefafaa fase 9 98 30 999 55 .

(1) (A1), (B)-1), ©)-@), (D)-1V)

(2 (A, (B)-(V), (O)-(D), (D)-1)
(3)  (A)-(Im), (B)-(IV), (O)(1I), (D)-(I)
@) (A)AD, (BRI, (O-(1V), (D))

Options :

42558948860. 1
42558948861.2
42558948862. 3
42558948863. 4

-1
(g% )
() werfed
(I foervers T
(1) TR sifEm #=@
(IV) =31 uiEdd



Question Number : 127 Question Id : 42558912551 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefofes afec srreT gwerr & q&as |7 faam &%
geit-1 -1

(9= ) (q&eh )
(A) WrfecT STFRIGH ol TERR () wened
(B) Hfec SreRTeHT Ja TEFR an foeres
(C) e FFRIGHT oTel JLERR (1) foriier siifeam # 3
(D) Wrfecd STFIGHT 319918 JUEFN (IV) &3 i
frfafas fases 9 98 s 999 FF :

(1) (A1), (B)-(), (O)-(1), (D)-(1V)
(2) (A, (B)-(IV), (O)-(D), (D)-(I)
(3)  (A)-(I), (B)-(IV), (O)(II), (D)-(I)
(4) (A0, (B}-(IT), (O~(1V), (D))

Options :

42558948860. 1

42558948861. 2

42558948862. 3
42558948863. 4

Question Number : 128 Question Id : 42558912552 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frfaiad e GUeh HURRRE G Ham & :

-1 -1

( RYUTHUE ) ( SheTeRTY )
(A) T (ny faei ¥
(B) TG () Iu=A19e =’
(C) fasw (1) EfeEA
(D) fagmeA (IV) e 2
frefafan fases 9 98 s 997 F5 ¢

(1) (A)-(D). (B}-(IT), (C)~(II), (D)-(IV)
(2) (AL, (B)-(I1L), (C)-(1), (D)-(IV)
() (A)-(I), (B)-(IV), (O)(I), (D)-(I)
(4) (A1), (B)-(1V), (O)-(I1), (D)-(I)

Options :

42558948864. 1

42558948865. 2

42558948866. 3
42558948867. 4



Question Number : 128 Question Id : 42558912552 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefafaa w1 U FUERS 51 e F5 ¢

i1 get-11

( HATHUE ) ( ShATRTT )
(A) T (ny faeiy
(B) TG () SUsTgE =’
(C) faemamn (un) e
(D) faemeA (IV) e 2
frfafea fasen § 9@ 3006 997 5%

(1) (A)(D), (B)-(IT), (C)-(II), (D)-(IV)
(2) (A1), (B)-(I1L), (C)-(1), (D)-(IV)
(@) (A, (B)-(IV), (O)-(11), (D)-(T)
(4) (A1), (B)-(IV), (C)-(ILD), (D)-(I)

Options :

42558948864. 1

42558948865. 2

42558948866. 3
42558948867. 4

Question Number : 129 Question Id : 42558912553 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frfeafes = F T=AmRE 9 foem +6
TEit-1 -1

(T=FT) ( TeATERTY)
(A) Tt () RERATY oY
(B) UsFerA () FFERL =
() "R (II) TrHTET TreRd
(D) Sigrel (IV) ez g
frefafaa fage O U@ TF 921 F8

(1) (A)-(ID), (B)-(I), (O)-(1V), (D)-(I)
(2)  (A)IV), (B)-(I), (C)-(L), (D)-(II)
(@) (A)-(), (B)-(IV), (C)-(II), (D)~(II)
(4) (A, (B)(1), (O-(1V), (D)-(I)

Options :

42558948868. 1

42558948869. 2

42558948870. 3
42558948871. 4



Question Number : 129 Question Id : 42558912553 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

| -1

(=) (TR )
(A) ot () FERATS &9
(B) TEHTHA (II) AR 3
(C) #r (IIT) ST ArerRd
(D) ¥iF=el (IV) eme= fag
frefafea fases ¥ 98 SWF 991 55

(1) (A1), (B)-(I), (O)-(1V), (D)-(1)
(2)  (A)-(1V), (B)-(D), (C)-(IIL), (D)-(IT)
(@) (A)-(0), (B-(IV), (O)-(IT), (D))
(4) (A, (B)(1), (O-(IV), (D)-(I)

Options :

42558948868. 1

42558948869. 2

42558948870. 3
42558948871. 4

Question Number : 130 Question Id : 42558912554 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

( WETRTSA ) ( w-wEr )
(A) =TI n u=E
(B) F af@ (I %
(©) Hu=m (1) TRE
(D) FEERa (IV) ¥RE
frefafan fases 9 98 s 997 F5 ¢

(1) (A)-(1V), (B)(IT), (OID), (D)-(I)
(2) (A, (B)-(IV), (O)~(1D), (D)-(I)
(@) (A)-(1D), (B)-(D), (O)1V), (D)-(II)
(4) (A0, (B)-(II), (CO)-(II), (D)-(IV)

Options :

42558948872 1

42558948873.2

42558948874. 3
42558948875. 4



Question Number : 130 Question Id : 42558912554 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

( vETeRTSA ) ( Gi-wwEr)
(A) =R () Y=e
(B) F = Iy &
(C) U= () Te
(D) eFFEERa (IV) 9@
frfafas fases 9 98 s 999 FF :

() (AIV), (B)-(IID), (O)-(1D), (D)-(I)
(2)  (A)-(MI), (B)-(IV), (O)~(11), (D)-(I)
(@) (A1), (B)-(1), (O-(1V), (D)-(IM)
(4) (A0, (B)-(IT), (O)-(II), (D)-(IV)

Options :

42558948872. 1

42558948873.2

42558948874. 3
42558948875. 4

Question Number : 131 Question Id : 42558912555 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
WUSHTSH G Uik e &

-1 THI-11

(TUgeHTea ) (dfem)
(A) UFaA () =zl Ted = gifor o e - foqg 79 @ |
(B) o (I) foemET-aTHg WO STdel Aol ¥ud |
(C) 9ad (IIT) ERTERT 1 U1 e ? A< ik g A6 A% g3 Wl
(D) WU (IV) e 941 Feai A5 Ha1g 32|
frefafaa fage O U@ TF 921 F8

(1) (A)-(1V), (B)(IT), (O~ID), (D)-(I)
(2) (A, (B)-(IV), (O)~(1), (D)-(IT)
(@) (A)-(), (B)-(ID), (O)-(II), (D)-(IV)
(4) (A1), (B)-(ID), (©)-IV), (D)-(I)

Options :

42558948876. 1

42558948877.2

42558948878. 3
42558948879. 4



Question Number : 131 Question Id : 42558912555 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FUegshieds 9 Ufeas fHem & :

i1

( @UgehRTeA )

(A) THEHA @

(B) e (1)

(CQ) A (IIT)

(D) U

frefafea fasres 9 98 3T =91 +5

(1) (AIV), (B)-(1LD), (O)-(1L), (D)-(I)

(2)  (A)-(UI), (B)-(IV), (C)-(L), (D)-(1I)

(3)  (A)-(1), (B)-(II), (C)-(II), (D)-(IV)

4) (A1), (B)-(ILL), (O)-(IV), (D)-(I)
Options :

42558948876. 1
42558948877.2
42558948878. 3
42558948879. 4

Teit-11

( viferT )

2Tk T a giford e fore - fog = o |
fereTRIT-aTH Q. STqel Heferdl o |

eI ol AT TS ? A< ik o dllesl 4= g3 01|
(IV) 31fe 94 Femil A5 Ha1g 3=

Question Number : 132 Question Id : 42558912556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

frefafiaa sz afteds sro-vfEdefioars fard fiem % .

-1

(vrsg)
(A) oAl (0
(B) TEw-zHFd (1)
(€)oo= (IIT)
(D) 9TER-HAT (IV)
frefafiea foasres 9 98 300 9919 &6
(1)  (A)IV), (B)-(I). (C)-(II), (D)~(1IT)
(2) (A, (B)(IV), (C)-(1), (D)-(1I)
(3 (A)-(), (B)-(II), (O)-(1I), (D)-(1V)
4) (A1), (B)-(11D), (C)-(1V), (D)-(I)
Options :

42558948880. 1
42558948881. 2
42558948882. 3
42558948883. 4

-1
(fram)
oo
[EED
= fed
FURTH



Question Number : 132 Question Id : 42558912556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafes o afted=eh ar-afted=eiaas faed ffem &

1 -11
(915 ) (Fram)
(A) Teg-HiETay (y faw=
(B) TET-THEA (I) foshm
(C) foum=-fr=m (1) TR e
(D) 9Th-HIT (IV) 3T
frefafea fases ¥ 98 SWF 991 55

(D) (AIV), (B)-(I), (C)-(L), (D)-(I)
(2)  (A)-(MI), (B)-(IV), (O)~(1), (D)-(IT)
(@) (A)HD), (By-(IN), (O)-(I), (D)-(IV)
(4) (A1), (B)-(I), (©)-(IV), (D)-()

Options :

42558948880. 1

42558948881.2

42558948882. 3
42558948883. 4

Question Number : 133 Question Id : 42558912557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa dides & wfaw g0 fram #& .

-1 -1

( yfrd ) (=fa)
(A) Y5 : 3URH () &E gors fHe
(B) - m g g
(C) T&h (IT)  orzre s o’
(D) IT=F-TH (IV) ehifaarmo gy
frefafaa fage O U@ TF 921 F8

(1) (A)-(ID), (B)-(II), (O)-(1V), (D)-(0)
(2) (AL, (B)-(IT), (C)-(LL), (D)-(IV)
() (A)-(), (B)-(I), (C-(1), (D)-(IV)
(4)  (AIV), (B)(1D), (CO)-(1), (D)-(IL)

Options :

42558948884. 1

42558948885.2

42558948886. 3
42558948887. 4



Question Number : 133 Question Id : 42558912557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfafaa sfidw % wfas @ faem #&

i1 get-11

( yiteies ) (=fa)
(A) YSH : 3URH () e yors foe
(B) WR-¥R () =@ ga’
(C) T&h (1) =rzre s =t
(D) I=F-TH (IV) ehifdarmgo fag
frfafea fasen § 9@ 3006 997 5%

(1) (A1), (B)-(), [©O)-IV), (D)-(I)
(2)  (AD), (B)-(IT), (C)-(LID), (D)-(IV)
(@) (A, (B)-(I), (C-(II), (D)-(IV)
(4)  (ANIV), (B)-(1D), (C)-(T), (D)-(IID)

Options :

42558948884. 1

42558948885.2

42558948886. 3
42558948887. 4

Question Number : 134 Question Id : 42558912558 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefafaa qeas @7 =R & fream & -
-1 get-11

(g ) (TR
(A) feredt s fagm (n e
(B) Hfeett v =71 Tfec () =Terfa= = =afea’
(C) Hforeft vr-vmes (IIT) A== T4, framera e
(D) Hferefi e =1 fomm (IV) itz fag
frefafaa fage O U@ TF 921 F8

(1) (A)-(ID), (B)-(I), (O)-(D), (D)-(1V)
(2)  (A)-(D), (B)-(ILI), (C)-(IL), (D)-(1V)
(3)  (A)-(IV), (B)(L), (C)-(ILL), (D)-(I)
(4) (A, (B)1D), (©O-IV), (D)-()

Options :

42558948888. 1

42558948889. 2

42558948890. 3
42558948891. 4



Question Number : 134 Question Id : 42558912558 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfafEd 7% 1 WTER & Han 8
2 | -11

(q&Teh ) (TR )
(A) Hfeed s fagm () TE=
(B) HfyeR wrm =71 Iifec () STertfa=< = =ifa’
(C) Hforeft vman-vme (IIT)  Feir=r= g, frEeE e
(D) Hfged e = fowm™ (IV) ity g
frfafea fasen § 9@ 3006 997 5%

(1) (A1), (B)-(ID), (O)-(1), (D)-(IV)
(2 (A)-(D, (B}-(ILL), (C)-(I1), (D)-(IV)
(@) (A)-(IV), (B)-(I), (C)-(I1T), (D)-(I)
(4) (A, (B)(1D), (O)-(1V), (D)-(I)

Options :

42558948888. 1

42558948889. 2

42558948890. 3
42558948891. 4

Question Number : 135 Question Id : 42558912559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

.1 11
(™) (T TS )

(A) ST o fes

(B) W= (I =fa

(C) SR (IlI) ¥

(D) I\ (IV) %Y

fefafes fawes ¥ W& s 991 F5 .

(D) (A0, (B}-(IT), (O)~(I), (D)-(IV)
(2) (A, (B)-(ID), (O)-(1V), (D)-(I)
(@) (A)-(1), (B)-(D), (O)1V), (D)-(II)
(4) (A, (B)(1), (O-(W), (D)-(IV)

Options :

42558948892. 1

42558948893.2

42558948894. 3
42558948895. 4



Question Number : 135 Question Id : 42558912559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frfafEs e 776 IE 9oF fAJaH &% ¢
geit-1 TEt-11

(=) (T W)
(A) FE O fe=
(B) 9= (I =
(CQ) SR (IlI) ¥
(D) =% (IV) 3Ry
frefafaa fases ¥ a8 T 921 F5

(D) (A)-(D), (B)-(IT), (O)-(L), (D)-(IV)
(2)  (A)-(MI), (B)-(I), (C)-(IV), (D)-(I)
@) (A1, (B)-(1), (O-1V), (D)-(IM)
(4) (A, (B)(1), (C)-(W), (D)-(IV)

Options :

42558948892. 1

42558948893.2

42558948894. 3
42558948895. 4

Question Number : 136 Question Id : 42558912560 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfefed Fea = EaErE fiem &€
Tefi-1 -1

(AT =) (=TT
(A) T A gl () Heft T
(B) fafeen s () we= wefmam
(C) T UE FWUE (1) 327 aw fog ‘Afaera’
(D) AT SATHE ALEHHT (IV) g 9 =il
frefafaa fage O U@ TF 921 F8

(1) (A)-(Im), (B)(I), (O-(1V), (D)-(I)
(2)  (A)-(I), (B)-(I), (C)-(IL), (D)-(IV)
(@)  (A)-(I), (B)-(I), (©)-(IV), (D)-(I)
(4)  (AIV), (B, (O)-(1D), (D)-(I)

Options :

42558948896. 1

42558948897.2

42558948898. 3
42558948899. 4



Question Number : 136 Question Id : 42558912560 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

2 | -11
(FTEd =) ( TEFTERTY)
(A) Tt | ufaw ()  HI TEeA I
(B) fafeen e (II) He= JeArT
(C) d'TUgl S UE (IIT) 357 Ew fog ‘Afaera’
(D) ST STTAE TLEHH (IV) | 9 =il
frfafea fasen § 9@ 3006 997 5%

(1) (A1), (B)ID), (O-IV), (D)-(I)
(2)  (A)-(MI), (B)-(I), (C)-(IT), (D)-(IV)
(@) (A1, (B)-(1D), (O-(IV), (D)-(I)
(4)  (ANIV), (B-(IIL), (CO)-(1D), (D)-(I)

Options :

42558948896. 1

42558948897.2

42558948898. 3
42558948899. 4

Question Number : 137 Question Id : 42558912561 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefefEa ot u= o Teds fiem #&
-1 11

(St umT) (e )
(A) Hehell () e
(B) =Ml () iR w3
(C) =fveeH (Il1) \FrEa =Tee fom
(D) Ha (IV) =T S TH AL 3] Hiedl
frefafaa fage O U@ TF 921 F8

(1) (AHIV), (B)(I), (O)-ID), (D)-(I)

(2 (A, B)-(11), (O-(1V), (D)-0)
(@) (A)-(1D), (B)-(ID), (O-(IV), (D)-(I)
@) (AHIV), (B)(LD), (O)-(ID), (D)-(T)

Options :

42558948900. 1
42558948901.2
42558948902. 3
42558948903. 4



Question Number : 137 Question Id : 42558912561 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefofes St a3 § ews fiem &% ¢
i1 Teit-11
(@t umT) (e )
(A) Teel ()  Treren
(B) =Ml () EE T
(C) =freeh (L)) WRTEd e for
(D) i (IV) SHHEA i TH AL 3T Hil
frefafea fases ¥ 98 SWF 991 55

(1) (A)-(1V), (B)-(I), (O1D), (D)-(1)
(2) (A, (B)I1), (C)-(1V), (D)-(I)
(3)  (A)-(ID), (B)-(1D), (O)-(IV), (D)-I)
(4)  (A)-(1V), (B)-(1D), (O)-(I), (D)-(1)

Options :

42558948900. 1

42558948901. 2

42558948902. 3
42558948903. 4

Question Number : 138 Question Id : 42558912562 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafes dras & g Tt 97 fiem &% ¢

-1 11

(@ ) ( 3TeTreFTHeR Tred )
(A) SEYR fae ) =TS
(B) M= =T’ (I1) =g | difres g
(C) Wi 9Rgrst (Il1) g&Ne 371 formmafa
(D) SR fg (1v) Hfered \rfeca &t TsHifa
frefafaa fage O U@ TF 921 F8

(1) (A)-(ID), (B)-(I), (O)-(1V), (D)-(0)
(2 (A)-(1V), (B)(1D), (C)-(0), (D))
(@) (A)-(D), (B)-(IV), (O)-(), (D)-(II)
(4) (A, (B)1V), (O)-(1), (D)-(I)

Options :

42558948904. 1

42558948905. 2

42558948906. 3
42558948907. 4



Question Number : 138 Question Id : 42558912562 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefofEs dras & g el 97 fiem &% .

i1 Tet-11

(erEe® ) ( STeTrerTeeR Uret )
(A) SEYR foE () e T
(B) M= =T (I) =i | it g
(C) Hied YRgTS! (IIT) gemrd &1 fermafa
(D) wwviEH fHE (V) Hferett drfeca 31t Tt
frfafea fasen § 9@ 3006 997 5%

(1) (A1), (B)-(), (©O)-IV), (D)-I)
2 (AHLV), (B)ALD, (O)-(I), (D)-(IID)
(@) (A1, (B)-(IV), (O)-(1), (D)-(IM)
(4) (A, (B)-(1V), (O)-(1), (D)-(II)

Options :

42558948904. 1

42558948905. 2

42558948906. 3
42558948907. 4

Question Number : 139 Question Id : 42558912563 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frfefeaa S aeeE @i 3T 91 e &% -
-1 THI-11

(=it ur) (TR SU=aTe )
(A) Fovd @) T EARH
(B) WIS (I) weR-Faei
(C) i (II1) e ST
(D) FEH (1v) wifer fas
frefefaa fases O 98 W 991 56 ¢

(1) (A1), (B)-1I), ©)-IV), (D)-[@)

(2)  (A)-(1V), (B)-(I), (OD), (D)-(I)

(3)  (A)-(Im), (B)-(), (O-(II), (D)-(IV)

(4) (A, (B)-(1V), (O1D), (D)-(1)
Options :

42558948908. 1
42558948909. 2
42558948910. 3
42558948911. 4



Question Number : 139 Question Id : 42558912563 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefafaa & 9= o ST=TEE S e 4
geit-1 TEt-11

(T ar ) ( olteh 3T=aTd )
(A) TRt (1) T HETEH
(B) TSI (1) wEER-FwEl
(C) (II1) SR ST
(D) FgH (Iv) wifie fasrg
frfafes fases 9 98 = 991 F5 ¢

(1) (A)-(1D), (B)-(I), (O)-(1V), (D)-(1)
(2)  (A)-(1V), (B)-(I), (O)~(D), (D)-(I)
(3)  (A)-(II), (B)-(I), (C-(1I), (D)-(IV)
(4) (A, (B)-(1V), (O(11), (D)-(1)

Options :

42558948908. 1

42558948909. 2

42558948910. 3
42558948911. 4

Question Number : 140 Question Id : 42558912564 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefafaa fema & Sasws 90 frem % .
-1 gt-11

( Frerar) (aE=®)
(A) g (D Gy A e
(B) fommfas sa= aoiq () ¥erE A
(C) omaf=m ek W= 5=y (1) TifasEm
(D) HEHq = ik ? (IV) T
frefefaa fases O 8 ST 991 56 .

(1) (A)-(Im), (B)-(IV), (OD), (D)-(I)
(2)  (A)-(1D), (B)-(IV), (C)-(), (D))
(3)  (A)-(IV), (B)-(IL), (O)(ID), (D)-(I)
(4) (A1), (B)-(1), (O)-(1V), (D)-(IL)

Options :

42558948912. 1

42558948913.2

42558948914. 3
42558948915. 4



Question Number : 140 Question Id : 42558912564 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frfafea fey & S 97 firem %
eI get-11

( forarer) (o)
(A) g () Gurg IR e
(B) fermafae s 9oiA () ¥erE A
(C) ofaf=id Areek =M =y (D) Tifa e
(D) HEHq =l i ? (IV) THA™ =
frfafea fasen § 9@ 3006 997 5%

() (A, (B)(1V), (O)-(1), (D)-(II)
(2 (AL, (B)-IV), (O)-1), (D)-(II)
(@) (AHIV), (B)-(II), (O)-(11), (D)-(T)
(4) (A1), (B)-(D), (O)-(1V), (D)-(II)

Options :

42558948912. 1

42558948913.2

42558948914. 3

42558948915. 4

Sub-Section Number : 2
Sub-Section Id : 425589495
Question Shuffling Allowed : No



Question Id : 42558912565 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

= ey & sade ufg ufed e uvaetsR ST dETe o ag-famend W (fawmen) = wmm
&R

faferetes Qifae svafas sfrems weaam ¥ 9 25 3 oven wars) | fafvs favwss = ufeem dma
AT | TfE YH FAUSYeR AW SeoiEArd sifs | HuevaR UsHIfd, U, = o1fe e fauEe v &' % ufas
s Fete | et sfafiaa Siwer, TWeT wE B AW 99 Swrae Afe | ofe g fufuen difsew
smeAfeer &9 W S FH-TIRHRE RO ST 9 g § atigss uR o femera 39 few sjmen ¥
Ve qU yfn wErEa aft faera wa 1 fofuers sty aon g, wifes, v ol afemsen o
i TEd T 37 e TS Hehaeh 95 Hel S | Terrs Hevl 219 o 219 fagarh R fafermes 1 ur
A TAE | Fihfaeh TIETIF U R0 38 T o HHeHHT SR H 9o fawg gurerer 1k o fogm aent
fafersr werrear 71 Tt wmitsrer wel Afqer = fame Tmiv &' Saf | 5 fagM @esl =, Jmie ue Wi
SRR - Tofa gdreme feg TwTsrer qeames |l g sharf | afeermes vl i fommfa em gor gaer
ed B ' IE) AR« TET o - vafa’ | fae ufeem gviF e wmiERr g e W T Afe
e o1fq Tehd, STV ue Aol W ST ey T el 9 |

Sub questions

Question Number : 141 Question Id : 42558912566 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

VSIS AW IeoEdg 3 -
(1) YrSidTes €99
(2) TEAERE EIH
(3) ST O
(4) THESTEEE B
Options :

42558948916. 1
42558948917.2
42558948918. 3
42558948919. 4

Question Number : 142 Question Id : 42558912567 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Vi &3 o o -
(1) Tewmem «fi
(2) iR 7 YR
(3) e w|rE ai
(4) FEFEHE =R

Options :

42558948920. 1
42558948921.2
42558948922. 3
42558948923. 4

Question Number : 143 Question Id : 42558912568 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



H, Wyl 2R fuferet Is9 e #ud gdw -

b

(1 3s ¥ _

(2) faga ¥

(3) FAFMY

@) T&E
Options :

42558948924. 1
42558948925.2
42558948926. 3
42558948927. 4

Question Number : 144 Question Id : 42558912569 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FUSYeeh ATd fauass =1 I9eTsy Bisd Afw -

(1) a9 Y

(2) TIREH e

(3) THEW vrarearH

(4) U=eH v
Options :

42558948928. 1
42558948929. 2
42558948930. 3
42558948931. 4

Question Number : 145 Question Id : 42558912570 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ffueres = fagm == -
(1) Hfets
() HEFTh
(3) HAFEF
(4) UIFRdHR
Options :

42558948932. 1
42558948933.2
42558948934. 3
42558948935. 4



Question Id : 42558912565 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

= ey & sade ufg ufed e uvaetsR ST dETe o ag-famend W (fawmen) = wmm
&R

faferetes Qifae svafas sfrems weaam ¥ 9 25 3 oven wars) | fafvs favwss = ufeem dma
AT | TfE YH FAUSYeR AW SeoiEArd sifs | HuevaR UsHIfd, U, = o1fe e fauEe v &' % ufas
s Fete | et sfafiaa Siwer, TWeT wE B AW 99 Swrae Afe | ofe g fufuen difsew
smeAfeer &9 W S FH-TIRHRE RO ST 9 g § atigss uR o femera 39 few sjmen ¥
Ve qU yfn wErEa aft faera wa 1 fofuers sty aon g, wifes, v ol afemsen o
i TEd T 37 e TS Hehaeh 95 Hel S | Terrs Hevl 219 o 219 fagarh R fafermes 1 ur
A TAE | Fihfaeh TIETIF U R0 38 T o HHeHHT SR H 9o fawg gurerer 1k o fogm aent
fafersr werrear 71 Tt wmitsrer wel Afqer = fame Tmiv &' Saf | 5 fagM @esl =, Jmie ue Wi
SRR - Tofa gdreme feg TwTsrer qeames |l g sharf | afeermes vl i fommfa em gor gaer
ed B ' IE) AR« TET o - vafa’ | fae ufeem gviF e wmiERr g e W T Afe
e o1fq Tehd, STV ue Aol W ST ey T el 9 |

Sub questions

Question Number : 141 Question Id : 42558912566 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

VSIS AW IeoEdg 3 -
(1) YrSidTes €99
(2) TEAERE EIH
(3) ST O
(4) THESTEEE B
Options :

42558948916. 1
42558948917.2
42558948918. 3
42558948919. 4

Question Number : 142 Question Id : 42558912567 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Vi &3 o o -
(1) Tewmem «fi
(2) Tfererer 7 4R
(3) e w|rE ai
(4) FEFEHE =R

Options :

42558948920. 1
42558948921.2
42558948922. 3
42558948923. 4

Question Number : 143 Question Id : 42558912568 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



H. Heyl SWEL THiYe U9 9 hud 9elle -

1H IWH
(2 fasa ¥
(3) FAFMY
@) T=E
Options :

42558948924. 1
42558948925.2
42558948926. 3
42558948927. 4

Question Number : 144 Question Id : 42558912569 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FUSYeeh ATd fauass =1 I9eTsy Bisd Afw -

(1) a9 Y

(2) TIREH e

(3) THEW vrarearH

(4) U=eH v
Options :

42558948928. 1
42558948929. 2
42558948930. 3
42558948931. 4

Question Number : 145 Question Id : 42558912570 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Taferems = fagA =e® -

(1) Hfeetis

(2) HEFTH

(3) HAOEH

(4) HIFTH
Options :

42558948932. 1

42558948933. 2

42558948934. 3

42558948935. 4

Sub-Section Number : 3
Sub-Section Id : 425589496
Question Shuffling Allowed : No



Question Id : 42558912571 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

= ey & sade ufg ufed e uvaetsR ST dETe o ag-famend W (fawmen) = wmm
= ToN:

dfean, fagm Tt s amer Afe Sed Se | 79 TemR faenelE weda wen | dfed a1 syefifed ewfTew
AR W Tk T Joid Sa | SR Jfedr on Hiifs #ee wied 9ok | gAY Sid, Sfeand yefirs
faemer qen <rmfe® meafiaer sreren 3= faumeas ToEe AHe o 9F9 | FY MHE 9femR o1 3-UF TR
S Teq B | TMHEF T /Y T Afeand, o, 9ed o | e wrem T s - A, foamy wa
TAF—TEF, e/ Teq v, — favgan (fafermer) | afed, T Seer e famsier wRq wo, e
fonaire wiEa sorn | qfe, 3 F1 fava T t@ela SEe oo, TEhRd gieie e 9ot | Tl Fig,
YT SAMW § §99 Ted S0l — Tehel fefean| q¥y e S5el S1e@ 9Sa1 | g7 o UaRsE J9 1 g8
S Wgeld, ST WWed T Yed | AH-T | hifas it | Wi sl | Hiend voiien, o1ef |fed, gem -
AT SFEFE..., | d qag gUia.. Tofe | wea: Ufe o ToiF a=d Fa9: 99 ¢ 99 ik, ST,
FrorsinT femra wd o1 fig o "gEers o Wt Uit ui= w1 30 ed 9o | SRR Tie-gi-Wd o
ToAE | Ug RO Foran o fafeeren SRR wied wiam Jfe wotew 1 g faemes gran ufe em sweft Eed wor |

Sub questions

Question Number : 146 Question Id : 42558912572 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FfeqR | Y2l Bigd 96 -
(1) =
(2) wR-H
@) fem
4) wH=H
Options :

42558948936. 1
42558948937.2
42558948938. 3
42558948939. 4

Question Number : 147 Question Id : 42558912573 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=T Wg-fag Forr ufiEg @ Te W B -

(1) =9 die 9

(2) s G ufer

(3) =71e dd ufiw

(4) T@ dE g
Options :

42558948940. 1
42558948941.2
42558948942. 3
42558948943. 4

Question Number : 148 Question Id : 42558912574 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(2) STHETER

(3) WEAMmE

(4) wEl=ETTS
Options :

42558948944. 1
42558948945.2
42558948946. 3
42558948947. 4

Question Number : 149 Question Id : 42558912575 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FieER Feid I -

(1) T

(2) TEH W

(@) @R

(4) #FX W
Options :

42558948948. 1
42558948949. 2
42558948950. 3
42558948951. 4

Question Number : 150 Question Id : 42558912576 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y W T faEneiel wed 9 -
(1) H&Fa AE

(2) s A=

(3) el A

(4) fatga mmE

Options :

42558948952 1
42558948953. 2
42558948954. 3
42558948955. 4



Question Id : 42558912571 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

= ey & sade ufg ufed e uvaetsR ST dETe o ag-famend W (fawmen) = wmm
= ToN:

dafean, Tagr et s ameX Afe Sgd Do | 3177 garaR fareneffeh ugdst oo dfeq an srdvifed ewfes
AR W Tk T Joid Sa | SR Jfedr on Hiifs #ee wied 9ok | gAY Sid, Sfeand yefirs
faemer qen <rmfe® meafiaer sreren 3= faumeas ToEe AHe o 9F9 | FY MHE 9femR o1 3-UF TR
<o T&d TR | TMHE =1 WY TF dfewrd, e, wea Ja | fnars e d wok - Jfere, famy w
TH-H, SR Teq vt - fovga (fafeemsm) | ufed, S e e fawsier SR oo, At
fonaire wiEa sorn | qfe, 3 F1 fava T t@ela SEe oo, TEhRd gieie e 9ot | Tl Fig,
TeF TAMR § 3v Ted B - Uhel fefomn| ey Tl S 21gen TSe | g o ufans /Y A qEY
S Wgeld, ST WWed T Yed | AH-T | hifas it | Wi sl | Hiend voiien, o1ef |fed, gem -
AT SFEFE..., | d qag gUia.. Tofe | wea: Ufe o ToiF a=d Fa9: 99 ¢ 99 ik, ST,
FrerainT fedra wd ot fig o wgEers o W Uit uR=d w1 3@ ed 9o | SRR Tie-g-0d o
ToAE | Ug RO Foran o fafeeren SRR wied wiam Jfe wotew 1 g faemes gran ufe em sweft Eed wor |

Sub questions

Question Number : 146 Question Id : 42558912572 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TfeaR | 9ZHT B B -
(1) =
(2) wR-H
@) fem
4) wH=H
Options :

42558948936. 1
42558948937.2
42558948938. 3
42558948939. 4

Question Number : 147 Question Id : 42558912573 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=T Wg-fag Forr ufiEg @ Te W B -

(1) =9 die 9

(2) i G ufer

(3) =71e dd ufiw

(4) T@ dE g
Options :

42558948940. 1
42558948941.2
42558948942. 3
42558948943. 4

Question Number : 148 Question Id : 42558912574 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(2) STHETER

(3) WEAMmE

(4) wRf=ETTw
Options :

42558948944. 1
42558948945.2
42558948946. 3
42558948947. 4

Question Number : 149 Question Id : 42558912575 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FieER Feid I -

(1) TS

(2) TAE W

(@) @R

(4) AT
Options :

42558948948. 1
42558948949. 2
42558948950. 3
42558948951. 4

Question Number : 150 Question Id : 42558912576 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y § =k faaEneie Sed 99 -
(1) H&Fd WA

(2) s A=

(3) hef

(4) fatga W

Options :

42558948952 1
42558948953. 2
42558948954. 3
42558948955. 4



